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Strand: Number

Curriculum Expectations Pages
Students will be expected to demonstrate an understanding of
e 5-15 20 -
NO1 | place value for numbers greater than one million and less than
23,25 - 26
one-thousandth.
NOZ Students will be expected to solve problems involving whole 16 - 19, 24

numbers and decimal numbers,

Students will be expected to demonstrate an understanding of

factors and multiples by
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Students will be expected to demonstrate an understanding of
NO& | percent (Limited to whole numbers) concretely, pictorially. and 113 - 130
symbolically.
NOT Students will be expected to demonstrate an understanding of 131 - 150

integers contextually, concretely, pictorially, and symbolically.

Students will be expected to demonstrate an understanding of
NO8 | multiplication and division of decimals (one-digit whole number Th =112
multipliers and one-digit natural number divisors),

Students will be expected to explain and apply the order of
NO9 | coperations, excluding exponents, with and without technology 3 - 53
(Limited to whole numbers)
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Name: MOt
5213 572 483
Billions Millions Thousands Ones
Hundreds | Tens | Ones | Hundreds | Tens | Ones | Hundreds | Tens | Ones | Hundreds | Tens | Ones
5 Z 1 | ] 7 2 & B 3
Questions Fill in the Place Value Charts below ]
1) 3 521 785 246
Millians Thousands Ones
Hundreds | Tens | Ones | Hundreds | Tens | Ones
Billions Ones
Hundreds | Tens | Ones | Hundreds Hundreds | Tens | Ones
3) 923703
Billions Millions
Hundreds | Tens | Ones | Hundreds | Tens | Ones | Hundreds
4) 2 125 284 275
Billions Millions Thousands Ones
Hundreds | Tens | Ones | Hundreds | Tens | Ones | Hundreds | Tens | Ones | Hundreds | Tens | Ones
5) 8 3468 54T 941
Billions Millions Thousands Ones
Hundreds | Tens | Ones | Hundreds | Tens | Dnes | Hundreds | Tens | Ones | Hundreds | Tens | Ones




Name:

Circle the digit for each place value written ]

Number Digit
1) 245 B42 Ten thousands place
8 581 578 Millions place

42 846 285

Thousands place

9)

Ten-millions place

6)

Hundred-millions place

7)

Hundred-thousands place

8)

9)

2 758 951 154

10)

7 856 578 452

What place value is underlined?

Number Place Value
1) 8 545 121 848
2) 3 565 215 835
3) 3 455 458 489
4) ? 753 602 374
5) 3 410 848 496
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Name: 7 e

Number Billions Millions Thousands Ones
5 158 322 457 5 158 322 457
Part 1 How many of each are the numbers made up of? Fill in the table below ‘
Number Billions Millions Thousands Ones
1)
2)
3
4) 2 571 945
5) & 833 854 198
&) 8 052 050 187
T) 4 478 756 054
8) 3 457 681 362
) 2 314 685 114
10} 3 546 820 047

How many of each are the numbers made up of? Fill in the table below

1) | How many hundreds are in one-thousand?

2} | How many thousands are in one-million?

3} | How many millions are in one-billion?




Name: g kL

Questions What i1s the expanded form of the numbers below? ]

1) 4753 501 003

& 000 000 000 + 700 0OO 00D + 50 000 000 + 3 000 00O + 500000 + 1 000 + 3

2) 2 851 460 000

3) 9128 700 000

6) 5104 70

7) 7852 620 500

8) 4 870 DO8 985

¥) 5 586 900 084

10) 7 842 000 541
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MName: -, i

Questions What is the standard form of the numbers below ]

1) 5,000,000,000 + 800,000,000 + 40,000,000 + 100,000 + 20,000 + 3,000 + 400 + 50 + &

9,840,123,456

2) 2,000,000,8Q0 + 100,000,000 « 7,000,000 + 800,000 « 10,000 + 200 + 30 + 5

7) 7,000,000,000 + 100,000,000 + 20,000,000 + 400,000 + 50,000 +6,0Q

8) 1,000,000,000 + 200,000,000 + 30,000,000 + 400,000 + 50,000 + 6,000 + 700 + B8O + 9

%) 8,000,000,000 + 300,000,000 + 10,000,000 + 500,000 + 900 + 20 + 6 + 500 + 30 + 5

10} 5,000,000,000 = 20,000,000 + 300,000 + 5,000 « 7,000 + 800 + 90 + &4 + 3




Currigudien Connsction

MName: 10 MO
1-0One § - Five ? - Nine 13 - Thirteen | 17 - Seventeen 30 - Thirty 70 - Seventy
2 =Two 6 = Six 10 = Ten 14 = Fourteen 18 - Eighteen 40 = Forty &0 = Eighty
3 -Three | 7 = Seven 11 - Eleven 15 - Fifteen 19 - Mineteen 50 = Fifty 20 = Minety
4 - Four & - Eight 12 - Twelve 14 - Sixteen 20 - Twenty &0 - Siaty 100 - Hundred

Write the standard form of the written words below

1) Seven h
hundred tf

gighty-six million, six 2) Nine hundred twenty-five million, seven
hgusand, two hundred hundred sixty-three thousand, three
hundred twelve

4) Six-hundred twenty-one million, eight
hundred thirty-tweo thousand, one hundred

thirty-nine

5) Four hundred seventy-
hundred eighty thousand, on®

ninety-nine

1) 134 345 142

?) 412 527 351

3) 645 512 257

4) 274 464 495
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Name:; 12 MO

1 =0ne f - Five 9 - Mine 13 - Thirteen 17 - Seventeen 30 - Thirty T0 - Seventy

2-Two A - Six 10 - Ten 14 - Fourteen 18 - Eighteen 4 - Forly B0 - Eighty

3 = Three T = Seven 11 - Eleven 15 - Fifteen 19 - Nineteen 50 - Fifly 00 = Minely
4 = Four 8 = Eight 12 = Twelve 16 = Sixlean 20 = Twenty 60 = Sixty 100 = Hundred

Ben finished his homework! Find his errors and correct them ]

Question Ben's Answer Correct Answer

7010

81 40

478 6

4) Ninety-four million, ong 94 100

5) Five-hundred million, seventy

6) Eighty-eight million, thirty-one

7) One hundred three million, four thousand

B) One billion, one million, one thousand, one

Question

What is wrong with Ben's answer below? Explain, J

Ben's Answer Why is Ben's answer wrong?

Five billion, two
hundred thousand, six

3 200 0D&




Fill in the blanks below

|

Number Breakdown

B ™

301 048 082

H

Write the m below
Fill in the pattern below
301 048 082 , 85 301 048 086
Eillin t el
301 048 082 J 301 049 082 f
Fill in the pattern below
301 048 082 . 303 048 082 048 0B2
301 048 082 +10 000
301 048 082 +1 000 000
301 048 082 + 100 000 DOD
301 048 082 - 10 000 00D
301 048 082 - 1000




Cigrriealaim Carmectan
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The sequence of numbers never ends - they are infinite! The concept
of infinity relates to the idea that there is no last number or largest
number as there is always a larger number.

Write the standard form of the number. Hint: Billions = 9 Zeros

Mine-hundra -hundred forty-six

4) | million, five-huhj B d. one-hundred
eighty-nine. »

Une-hundred sixty-four B
5) | million, four-hundred thirty-ni
thirty-seven.

Five trillion, one hundred forty billion, six-hundred
1) | eight million, two-hundred twenty-five thousand, one-

hundred twenty-six.

Seven hundred sixty-one trillion, four hundred thirty-three
2) | billion, one-hundred sixty-five million, seven-hundred eighty-
eight thousand, five-hundred seventy-twao.

Nine hundred twenty-six trillion, four hundred eighty-five
3) | billion, one hundred eighteen million, seven hundred seventy-
five thousand, nine hundred twelve.

Fourteen trillion, 5 billion, eight hundred twenty-seven
million, five hundred thousand, eighty.
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14 NOZ

Solving large calculations requires us to understand which operation we need to

use. We use each operation for different purposes, including:

» Addition: combining, counting, finding a total

* Subtraction: take away, finding the difference, how much is left
Multiplication: groups of, repeated addition

« Division: sharing equally in groups, repeated subtraction

Questions le which operation you will use for the word problem and then solve it ]
+ - x =
in 2020 was 7 800 000 000. In 1950,
1) S0 000. How many more people
Live on 0t g (What is the difference?)
&
% b w0 B

Amazon earned $386 1 0 (
2) | $280 00O 000 DOD in 2019Ho azon
earn in 2019 and 2020 togethe

™
w

&

The Prime Minister of Canada earns $365 200
3) | Assuming a Prime Minister works for & years, hoV
money will they earn as Prime Minister?

Canada's GOP was 1 570 000 000 000 in 2020 and
4) | 1170 000 000 000 in 2005, How much more money did
Canada earn in 20207

A company earned $35 964 000 with 243 staff members. If
5) | they split the earnings up equally, how much would each
staff member receive?
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Megan's homework has errors. Can you fix them? J

The Rogers Centres in Toronto has a maximum attendance of 53 503

1) people. If the Toronto Blue Jays sell out their arena for 81 home
games, how many people will have attended their baseball games?
NEgans 53 503 = 81 = 660.55
Answer

ur, 24 hours in a day, and 365 days in a

2) es are there in a year?
Megan's
Answer
Your
Correction
The top 5 companies in Toranto made the follo
(5) $2 935 642 (4) $5 B42 5BT (3) 38778
3) (2) $12 685 415 (1) $21 448 102
How much more did the top two companies earn than the bottom 3
companies?
Metan's Bottorn 3 - 2 935 642 + 5 842 574 + 3 785 256 = 12 563 472
AnEwer Top 2 - 12 685 415 + 21 448 102 = 34 133 517
Answer - 12 563 472 + 34 133 517 = 46 697 D42
Your

Correction
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Decimal numbers are any numbers that represent a value less than one. We use a decimal point to
represent that a number can be less than one, We would represent a single cookie with the number
1, but we can still represent a quarter of a cookie by writing 0.25. The D is the whole number, while
the numbers to the right of the decimal show how large the part of the whole is.

PLACE VALUE

4 2 3 7 5

Thousandths Ten Thousandths Hur. Thousandths Millianths

e of the place value for the underlined number? ]

3) 2.4217 4) 3.64882

5) 2.4335 8) 7.926

9) 2.530521 10) 7.754218

m Fill in the place value table for the numbe

1) 1.579238

Ones | Decimal | Tenths | Hunmdredihs | Thousamdihs | Ten Thousandths Hun. Thousandths Millianths

2) 2.387219

Ones | Decimal | Tenths | Hundredths | Thowsandths Ten Thousandths Hun. Thowusandths Millionths
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Round the decimal numbers below

Number Thousandth Ten Thousandth Hun. Thousandth
1)
2)
3)
4) | 0.000123
5) 4.35245

1) A scientist is measuring the temperature of a i
thermometer reads 23.456789 degrees Celsius. Rour™
temperature to the nearest ten thousandth degree,

2) The mass of an elephant is 3,700.2985 kilograms. Round this number to the
nearest hundred thousandth.

3) A distance runner completes a race in 2 hours, 30 minutes, and 15.12345
seconds. Hound the finishing time to the nearest millionth of a second.




Currigylum Cannectian
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1) A company has three branches that have sales of $1 354 34554678, $2 655 2456789,
and $3 495 236.7890. What is the total sales of the company?

LI L] -

2) A baker usg
kilograms of fl0

aur to make 24 loaves of bread. How many
make 48 loaves of bread?

3) A delivery truck travels 345.6789 kil Ssint ad 432.1098 kilometers in
the afterncon, What is the total distance tFaveleg ‘@’r day?

&
&

4} A machine produces 2 345 6789 units in one hour. How many uni
produce in 8 hours?

5) A grocery store has a total of $8 555 901.2345 worth of fruits and vegetables in stock. If
$2 B21 3456789 worth of vegetables are sold, how much is Left in the stock?

Bonus: Round the number to the nearest cent
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Mame: 25 N1

- - )
R
Questions Order the decimal numbers using the letters J {}a
A 4

1) Order the following numbers from least to greatest:
a) 0.1234
b) 0.001

Answer (ex. a. b, c. d)

reatest to least:
a) 45.6789
b) 45.789
c) 45.67
d) 45.8901

3) Order the following numbers from least to g

a) 987.654321
b) 98.7454321 Answer (ex. a, b, c, d)

c) 987654321
d) 9.87654321

4) Order the following numbers from greatest to least;

a) 0.000123 - N
b) 0.00123 Answer (ex_a, b, c d)
c) 0.0123

d) 0.123




Mame:

Cigrpiegluim Caramsctan
Ml

) 2)

0.012345 D 0.12345 0.0000%9 D 0.0001

)

12 3456 98.765432 [:] 98.765431

()| sans

)
123.45678 D 123.45679 00 & , 0.000459
. 0t

Answer the guestions below

1) A company has two suppliers who offer discounts on bulk purd
A offers a discount of 5.6789% and Supplier B offers a discount of 5.689%.

Which supplier offers a greater discount?

r. v
»

. SuppLier‘-

2) A construction company is building a bridge that needs 1,234.5678 cubic
meters of concrete. Two suppliers offer different prices for the concrete.
Supplier A offers a price of $89.1234 per cubic meter, while Supplier B offers
a price of $89.175 per cubic meter. Which supplier offers a lower
price for the required amount of concrete?
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Fill in the place value chart below

9 231 363 635

M HTh

TTh

Th

1) 452 132

e value is the underlined number? ]

4) 153 514 248

7) 3 150 427 205

8) 7 852 620 500

3) 458 342 658

) 1412 762 134

Fill in the table below - how many are in the nu

Number Billions Millions Thousands Dnes
1) 5 218 245 842
2) T 610 304 220

3) 3 497 584 752
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What is the standard form of the numbers below? ]

1) 2 00O 000 000 + 100 00O DOO + 7 000 00O + 8OO 0OO + 10 000 + 200 +30 + 5

2) &4 000 000 000 + 500 OO0 DOO + 8O 0OO DOO + 700 00O +70 00O + 6 000 + 500 + 30 + 2

1) Six-hundred four million, three hundred
seventy-six thousand, two hundred twenty-
two

Write the written form of the numbers below ]

1) 87 300 640

2) 500 160 500

3) 352 007 004
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What is the standard form of the numbers below? ]

1) 728.1252 2) 63.4212 3) 4 352.4127 4) 13.61288

5) 2.43872 6) 1.73213 7) 2432646 8) 7.925236

Part 9 [ ! fire tif
20t

numbers using >, <, and = l

¥

i

L J
0.012345 D E] 0.0001

. £04

&
'™

il

*> 4

4)
123.456 D 12.3456 98.7657

Order the decimal numbers using the letters l

3 ) W

T, -

Order the following numbers from least to greatest:

a) 25234
b) 2.1012 Answer (ex. a, b, c, d)
c) 2.02345

d) 2.523456




Directions:
1. Decide which number is easier to count by
2. Count by that number the other number amount of times

ldx 4

15x 8
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Directions
1. Break up one of the numbers into friendlier numbers (two-digit number into one)

2. Multiply the other number by the two friendlier numbers
3. Add the two answers together

Example

16 x 4
l0x4andbx i
v '

40 24

.-""..

l6x 6 17 x9
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35 Hi?

Directions
1. Halve one of the numbers and double the other number (2 options)
2. Multiply the new numbers together

Example
14 x 4
Option 1: 28 x 2 or Option 2: 7 x 8
’ '
a]s] a6

14 x 8 18 x5

19x3 17 x4




Directions
1. Halve one of the numbers to make the equation simpler
2. Solve the equation
3. Double the product (answer)
Example
18 x 7
9x7=63
63 x2=126

19x 4

14 x 10

l4x 6

17 x4




MName: &7 HO9

Directions:

1.
2.

Count up by the smaller number to the larger number
The answer is how many times you counted

2 3 Q1 xT=?
1317 1 23 4 5 6 7 B 9 10 11 12 13
7 21,28, 3

. 14, 9, 42, 49, 96, 63,70, 77, B4, 71

Answer = 13

85+5

112+ 8 114+ 6




e m T [t

Directions

1. Break up the larger number (dividend) into friendlier numbers

2. Find out how many times your smaller number (divisor) fits into the new
dividends

3.  Add up how many times your smaller number fits
into your larger numbers

Example
144 + 6 =

208 + 8 198 + 6
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When solving an equation, you need to follow the order of operations. This means you
have to solve the equation in the correct order, not just from Lleft to right. Using
BEDMAS helps us remember the order to solve.

1 Brackets 2. Exponents 3. Division or Multiplication (whichever is first)
4. Addition or Subtraction (whichever is first)

Example 2
9-3+(83x1)=7?
9-3:3-=
9-1=8

3) Bx4)+(4+2)=

1) 3+(4x5)=

) (12+6)x3-= 5) 12+ (2+1

T 24+:6+(4+10)= [8) 17-2x5=

10) 25-15+5= 11) 22-6+5= 12) 18-5+(6x8) =
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Questions

Find out the value of the variables using BEDMAS I

1) 1x(2+8)=

2) 3x(b-4)=

3) 8xb4+(13+8)=

7 36+(3+3)1

5) -4+ (4x9) =

6) 5x(4+5)=

10) 2x(28+7) =

11) 42 + (3 x

9) 28+ (9+3)=

Word Problems

Answer the word problems below

$4.50 x 2 = $9.00

1) Lindsay ordered two slices of pizza and soda for lunch. A slice of pizza is $2.50,
and a soda is $2.00. Lindsay did the math below. What did she do wrong?

$250 + $200x2=7

2) John bought 2 pieces of bubble gum for 20 cents each and 3 chocolate bars for 70
cents each. How many cents did he spend? Write the eguation.

2




Sophia and Aiden both answered the questions belaw. Circle wha's right ]

Question Sophia's Answer | Aiden's Answer
2+b6xd4+12
1 44 38
10-2x3
4 24
D 18
4 11
12 - 3% (5 + 5)
5
20+(8-3)x2
6
10x3-(2x5) -2
7
Pl o
8 23 33
48 + 6 - (2 + 3)
9 48 3
3+6x7+11-6+2
10 53 34
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A candy shops sells gum, gummies, and candies. The prices are displayed in the table
below.

Candy Price in Cents

Gum 25
Gummies 4
Candies 10

Example
Miranda bought ummies, and 3 candies. How many cents
did she spend?

1) Ava bought 3 pieces of gum, 8 g
spend?

w many cents did she

2) Neil had 100 cents. He bought 5 gummies and 6 can s he

have left?

3) Dan purchased 4 pieces of gum, 9§ gummies, and 3 candies. How many cents did
he spend?

4) Claire had 150 cents. She bought 3 pieces of gum, 3 candies, and & gummies. How
much does she have left?




3)

4)

Name:

Waord Froblems

Write the equation for the situations below and answer the question

A cafe sells coffee, donuts, sandwiches, and Frappuccino's. The menu is listed below.

Menu Items Price in Dollars _E
Coffee 3 P
Donut 2 — —
Sandwich & |
rappuccino 5 I'.I
1) 3 sandwiches for her and her friends. How
much did sh
2)

Emily had 10 dollars and then h

is supposed to spend her maney eqgually

itional 10 dollars, She
do each of the 4 sisters get?

How much money

Asher had $50 to spend at the café for him and his friends. offees, 4
donuts, 3 sandwiches, and 3 Frappuccino's. How much money d

have left?

Amelia purchased 5 coffees, 5 donuts, and 5 Frappuccino's for her 5 friends. The
5 friends will split the cost. How much will each friend need to pay?
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The communitive property of multiplication is that changing the order of factors
does not change the product. For example, 4 x 3=3 x4

m Solve the equation and re-write it in different ways. Does the product change?

53] )

Rewritten Rewritten

Bxdx3=

4) 1x9x3=__
9) bx3x2=_
6) hx3xh=__
7) Tx5x2=
8) x3xbd=_
S 10%pR3=.
10) | 8x4xb=_
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Cirrieylsim Darneotian
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Product

1) Product 100 2) Product 12
2ox2x2
OUxox2

50

7) Product

34

8)

Product

24
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NGO How many ways can you represent a product? The first one is done for you ]

1) Product &0 2) Product 40

1x3x20

10x 3

3) Product Product 30

5) Product
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List the first 5 multiples for each number

Example

2,4,6,8,10
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Questions




Name:

Cigrriealuim Carmectan

5@I LI

2)8

3 1 24 12 6 1 29 58
9) 86 10) 63
2 L 1 92 3 £l 2 63
43 3 86 8 9 1 15 7
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m 1) Write the factors 2) Is the number a prime or composite number?

1) 27 2) 12
Factors: Factors:
Pri Composite Prime or Composite
4) 17
Factors: Factors:
Prime Prime or Composite
5) 28
Factors:
Prime  or Composite
7) 33
Factaors:
Prime or Composite Prime or Composite
9) 73 10) 81
Factors: Factors:
Prime or Composite Prime or Composite
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Follow the directions below ] "":EnF'A ?:;__1
1) Circle the prime numbers below Y
11 15 7 18 3 5
33 49 52 45
&7 90 81 T4

bers below

Pairs of Numbers Prime
1) 22,5
2) 12,17
3) 23, 25
4) 41, 49
5) 59, 52
) 67, 16
7) 73, 81
8) 89, 95
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57

28

91

81

6

39

12

55

75

43

73

18

21

48

28

42

62

46

60

21

32

95

96

03

29

21

92

14

31

60

78

24

01

86

69

99

46

61

38

44

90

50

52

34

68

37

79

82

38

62

19

93

50

60

86

99

70
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Help Angela get to school by colouring a composite number path ]

7 119129 (37|67 |71|61)|83

v 32 | 45 | 46 | 25 | 10

/&

f

79 29 197|183 | b3 |43 | 13

dj

2+ {QL®

76

3 (| F |4l |.£3

T4 | 35 | 92 | 92 17

98 | 17 | 61 | 41 99

- 70 | 39 | 40 | 68 | 65| 79 | 83 | 29 | 89

11159 |73 | 99 | @i E l @E | 03| 67|61

-----------
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! 3-8, aipme e Vs ki

Fill in the factor trees below ]

E
* 5

=

2)

3)
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Equation

3)

1

O
@O

o

OO OO

Equation

Equation




Name:

LQuestions

Draw your own factor trees below

Cigrriealuim Carmectan
M3

fEH.

1)

42

2)
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List the factors and write the greatest common factor (GCF)

1) 2)
12 15
18 25

GCF = GCF =
9) 10)
54 A
36 56

GCF = GCF =
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Find the GCF and match the letter to the numbers above. Motice there
are 2 0's, T's and 5's! You'll need to decide where to place the letter,

|

S

(48,72) T (9, 15) E (60, 45)
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The lowest common multiple (LCM) is simply the smallest of the common multiples.
Steps:

1) List all the multiples of the set of numbers until you get a match

2) The LCM is the lowest number that fits into all numbers in the set

Example
(3, 10)
-3 68

7 (9.4) 8) (2. 6) 9) (10, 6)
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LQuestions

Write the letters above the answers at the bottom to solve the riddle

LCM of 3 and 4

R

LCM of 9 and 21

|E‘ LCM of 4 and

Y]

LCM of 7 and 6

N

LCM of 6 and 8

LCM of 4 and 14

What belongs to you but is used more by your friends

42

20 12

24

18 21 28




LU reailaim DaisoTan
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Front-end estimation is when we keep the first number the same and change the
other numbers to 0. This form of estimation always underestimates the number.

Examples 1) 37 = 30 2) 164 - 100 3)235 2 200 4) 265624 - 26.0000

Im Use front-end estimation to round the 3-digit numbers below ]

6) 212
7) 363
8) 745
9) 913
0) 867

5) 962

Use front-e I e 4-digit numbers below J
1) 4375
2) 7265
3) 8485
4) 6214
5) 1971 10) 8485

Use front-end estimation to round to the nearest whole number J

1) 4.27 6) 17.9312

2) 71 7) 13.57284
3) 8.285 8) 24.13214
4) 6.078 9) 39.64825
5) 1512 10) 48.73126




Curriulum Connectian
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Questions Use front-end estimation to round to the nearest whole number J
1) Question B31x5=7
Front-End Estimation Version h x5 =25
) Question 65B82x8B=7
ination Version ” -
B.l4x3=7
:H: =
4) Questio Q14 xT7=7

Front-End Estimation Versic

5) Question

Front-End Estimation Version

6) Question

Front-End Estimation Version

x =

7) Question 2021 x8=7
Front-End Estimation Version :: =
8) Question 2554 x6=7

Front-End Estimation Version




m Which estimate is the best? Use front-end estimate to make your choice

1)834x7 2)552x5
a) 48 a) 30

b) 56 b) 55

c) 70 c) 25

d) 55 d) 32

3) &. 4) 425 % 3
a) 48 a) 11

b) 50 b) 15

c) 52

d) 55

5) 7.64 x 7

a) 49

b) 52

c) 59 c) 8

d) 45 d) 78

T) 1137 x 4 8) 24.54 x 4
a) 48 a) 99

b) 44 b) 96

c) 52 c) 100

d) 40 d) 90

9) 1284 x 2 10) 2134 x 3
a) 24 a) 50

b) 28 b) 40

c) 30 c) 68

d) 20 d) 63




LQuestions

Use front-end estimation to determine where to put the decimal

1) 7.334 x 7 2)3.152 x5
a) 513.38 a) 157.6

b) 51.338 b) 1.576

c) 5.1338 c) 15.74

d) 5133, d) 0.1576
3) & 4)531x3
a) a) 1593

b) 53936 b) 1593.0
c) 539.36 13993

d) 53936

5) 9.422 x 7

a) 65.954

b) 6.5954

c) 659.54 c) b

d) 6595.4 d) 5059.2
7)) 9325 x & B) 4.627 % 4
a) 373 a) 185.08
b) 3.73 b) 18.508
c) 0.373 c) 1850.8
d) 373.0 d) 1.8508
N 11624 x 2 10) 10.334 x 3
a) 232.48 a) 310.02
b) 23.248 b) 3.1002
c) 2.3248 c) 3100.2
d) 2324.8 d) 31.002
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Questions Use front-end estimate to estimate the answers J

1) Jen earns $22.53 each time she washes a car. She washed 6 cars today.
Approximately how much money did she earn? —

2)B is driveway. Each brick is 12 23cm long. Approximately
how if he puts them together?

3) Steve ran a route around
11.25km. Approximately how many

4) Julia worked 7 hours yesterday and made $18.55 per h
much money did she earn yesterday?

5) Henry bought 4 bags of soil. Each bag weighs 18.75kg. Approximately how much
did all the bags weigh in total?
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Questions

Use the standard algorithm to solve the multiplication problems below ]

35 55 29 68

Solve the word problems below

1) A brick layer is building a brick retaining wall, They are using 34 rows
of bricks that are 42 bricks tall. How many bricks do they need?

2) A football arena has 58 rows and 74 columns of seating. How many seats does the
arena have in total?

EfRg
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Step 1: Setup up the Area Model Step 2: Multiply Step 3: Add
3Zx17=_ " 32x17= 32 %x17=544
30 2
30 2 30 2
W3 10 101 10| 300 20
= 101 300 | 20
PR T 71 210 14
7 7
210 14
300 + 210 + 20 + 14 = 544

Questiar

Qe area model to solve the multiplication problems below ]

2) 27 x23 =

3) 45 x 24 =

5)82x44 =

6)94x72=
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Questions

Use the standard algorithm to solve the multiplication problems below

1) 2) 3)
1 4| 8
X X 5
a) 6)
1(8 3|8 4 8|4
X 4 X 6
7) 8) 9)
2|17 4|8 2 i [
X 3 X X E
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m Use the standard algorithm to solve the multiplication problems below ]

2)

Tand
X 9

3)

2.17
X 3

8 3 41
X 6

5 §5.83
X 4

11)

1&)

9.23

17)

63.6

18)

F1.4

19)
T.24

20)
80.5
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Four friends work at a farm in the summer. They each
earn different wages because they have difference job
experience. The wages they earn and the hours they
worked yesterday are listed below.

Mia Charlotte Emma
15.75 13.40 17.65
7 B b

al Who made the
the table above

b) How much did all 4 friends earn combined?

ow much did each friend earn? Fill in
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VN LEE Solve the word problems below ]

1) Brian bought his four children each a new backpack for school. Each
backpack was $28.55. How much did he spend on the backpacks?

2) Jade"ou
dogs cost $
spend on hot d

3) Bella's dog is having a birthday soon
that cost $5.65 each. How much did she sp

4) Gavin has been paying for a video game subscription for the last 9
months. Each month costs him $19.99. How much has he spent?
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Questions

Use the bar model to answer the division questions below

1)

48 + 8

48

2)

36+ 4

36

9)

49 + 7

10)

48 + 4

49

48
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SNl  Use the area model to answer the division guestions below J

1) 243 + 6 = 40r3 (16+4) 2) 284+ 4

200 80 4

3)

5)

6 600 30 6 5 700 70 8




Cigrriealuim Carmectan
I

When dividing a2 decimal, we can remove the decimal and treat it as a whole number.
We can do this as long as we add the decimal at the end.

Steps:
1) Remove the decimal
2) Calculate how many times the smaller number {divisor) fits into the dividend

3] Use front-end estimation to determine an estimated answer and add the
decimgésback to your final answer

Follow the steps above to calculate the answer J

330+ 2=7

330 + 2 = 165

3.00 + 2 = 1.5 so therefore, put the
decimal between the 1 and é

Answer

2) Question

Stepland 2

Step 3

Answer

3) Question

Stepland 2

Step 3

Answer

4) Question 339:3=7
Stepland 2

Step 3

Answer




Hduestions

Which estimate is the best? Use front-end estimate to make your choice

1) 2125 + 7
a) &

b) 3

2) 2532 +5
a)s
b) 4
c) &
d) 7

4) 2755 3
a)7
b) 8

D) 49.64 + 7

a)8

b) 6

c) 7

d) 9 d) &

7) 4485 + 4 8) 50.92 + 5
a) 10 a) 10

b) 11 b) 9

c)12 c) 11

d) ¢ d} 12

9) 26.42 + 2 10) 24.73 + 3
a) 11 a) 8

b) 12 b) 6

c) 13 c} 7

d) 14 d) @




Questions

Which estimate is the best? Use front-end estimate to make your choice

1) 35.34 + 7 2) 30.152 + 5
a) 5.048 a) 603.04

b) 504.8 b) 60.304

c) 5048.0 c) 6030.4

d) 50.48 d) 6.0304

3) 48 4) 21531 + 3
a) 60. a) 0.7177

b) 6.064 b) 717.7

c) 606.4 c) 7.177

d) 6064.0

5) 42.422 + 7

a) 6060.0

b) 606.0

c) 6.060

d) 60.60 d) 9.090

7) 32825 + 4 B) 36.627 + &
a) 8206.0 a) 61045

b) 8.206 b) 610.45

c) 8204 c) 6.1045

d) 82.06 d) 61.045

9) 14124 + 2 10) 24844 + 3
a) 7.062 a) 82813

b) 70.62 b) 8.2813

c) 706.2 c) 828.13

d) 7062.0 d) 82.813
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Questions Use front-end estimate to estimate the answers J

1) Rebecca paid Jrue $96.42 after he worked 8 hours. Approximately how many

dollars did Rebecca pay Jrue per hour?
¥ ppecs I 1
31 ( L

<~

4 bags of chips. Approximately how much did each bag

2)C
of c

3) Chris earned $88.34 after
hour?

&) Mark spent $77.82 on 7 hockey cards. On average, apprxi
dollars did each card cost?

5) The Johnson family spent $330.56 on a hotel room for 3 nights, Approximately
how much did the hotel cost per night? .
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Part 1 Fill in the table by dividing the decimals by whole numbers

Number +2 # 4 + 10
1) 0.8 0.4 0.2 0.08
2) A4
3)
4)
5) 0.

et the decimals by whole numbers

Number + 4 + 10
1) 0.28 14 0.028
2) 0.44
3) 0.68
4) 0.84
5) 0.92

Fill in the table by dividing the decimals by whole n ers

Number + 2 + 4 + 10
1) 116 0.058 0.029 012 or .0116
2) 160
3) 220
4) 348
5) 524




Name:

Cigrriealuim Carmectan
I

Questions

Use the area model to answer the division questions below. #1 is done for you ]

1)

0.844 + 4
0.844 is really 844 thousandths

2)

0.224 + 2

200

20

400 50 5

400

80
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Name:

AIT-EAE M  Solve the word problems below J

1) Tim bought 4 of the same candies for $4.16. How much did each candy
cost?

2) Shan tickets for $6.20. How much was each

ticket?

3) Leah bought 3 coffees for her friend®
$9.39. How much money did each coffee co'

4) Sam paid $6.84 for 3 ice cream treats. How much did each treat cost?




1) 634 x7 2) 126 x5
a) 42 a) 40

b) 49 b) 30

c) 50 c) 35

d) 47 d) 38

3) 9. 4) 2721 + 3
a) 50 a7

b) 62 b) B

c) 54

d) b4

) 2425 + 3

a)5

b) 7

c) 8

d) 4

1) 2) 3)
7 6|3 115 4| 6
X X 5 X 6
ﬁ
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Solve the word problems below ]

1) Carter bought 6 bags of chips for a camping trip. Each bag cost him $3.39. How
much did he spend on chips?

3) A car drives 1.5 kilometres per minute. If §
kilometres will it travel?

4) Maria has 2.5 kilograms of tomatoes. She wants to divide them equally into 5
bags. How many kilograms of tomatoes will each bag have?
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Follow the directions below ]

1) Circle the prime numbers below

70 55 49 18 81 5

T4 19 33 7 92 45

15 59 67 11 3 13
2) Circl mposite numbers below

2)

8 28

ODO®

O®
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Use BEDMAS to solve the questions below ]

1) 2x(2+4)= 2) 5+(6-4)= 3) 3x4+(12+8)=

4) 5) 9-4+4x9= b) B+4+2x5=

s below and then solve ]

Write the eq

1) A pizza has 8 slices, and 3 people each e

2) A book has 200 pages, and the first chapter is 50 pages long. If each chapter after
is 30 pages long, how many chapters are in the rest of the book?

b} How many chapters in total are in the book?
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Fillin the table with the converted decimal. fraction, and percent

Fraction Decimal Percent
100/1000 10.0%
20.0%

Yo

900/1000

1.000

Convert the following fractions, decimals and percents

138/1000 = % | 535/1000 =0. 42.4% = /1000 | 798/1000 = "
56.2% = /1000 | 161/1000 = % | 871/1000 = 0. 0.938 = Yo
0.356 = Y 0.682 = Y TL4% = 0. 782/1000 = 0.
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sEIAONM  \What fraction, decimal and percent of the array is shaded in? ]
Fraction Deci Decimal Percent Fraction | Decimal Percent
Fraction Decimal | Percent Fraction | Decimal | Percent Fraction Percent

Answer the word problems below

1) Hank got 71 out of 100 on his math test. What percent did he get on his test?

2) Wendy scored 23 out of 50 of her three point shots. What was her three point
percentage?
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Fr

Dacim

Fraction

Percent

Fraction

ecimal

Fraction

t

Decimal

Fraction

FPercent

Decimal

Decimal

Fercent

Percent

Fraction

Decimal

Fraction

Decimal

Fraction

Percent

Percent

Decirmal

Parcent




Liarregsilum Carnectsan

114 M4

Baseball statistics - What are these player's percentages from the 2020 season |

1) Mike Trout had 200 at bats in 2020. He had 54/200 hits, 41/200 runs, and 17/200 home
runs. This means for every 200 at bats, he would have 56 hits, 41 runs, and 17 home runs.

Hits Runs Home Runs
Totals - Fraction 56,/200 41/200 17/200

many home runs would he have?

_E} Mookie Ele?t t o had 98/300 hits, Eﬂfﬁﬂﬂ runs, and 27/300 home
runs, This means M ' alild have 98 hits, 58 runs, and 27 home runs,

Runs Home Runs
8/300 27/300

Totals - Fraction

Decimal to thousandths

Percent

a)

Lebron James and the LA Lakers won a Championship title in
shooting percentages by filling in the table below.

2 pointers 3 pointers
Fraction 214/382 L4/119
Decimal to thousandths

Percent

a) If James had taken only 100 3 pointers, how many would he have made?
b) If James had taken 300 3 pointers, how many would he have made?

c) The average NBA player shoots 46% from 2 pointers. How much better is Lebron? E




Name: 117

607 801 100

” Or 667 833. 100
) -_... )‘

Or 10 20t 30 80« 90¢ 100~
: h ' IO

Or 1251 25 375 S0t 625/ RS0/
6) he 4®

07 25/ 007 7Y (0107

?)4-Ll—l—1—l—f—l-—1—}

Oz M3r 286« Y429~ 57k 74k 83.7: 1007

A

Or Il 222 333 "HY 555 666: 777 888 100~




2)

3)

4)

5)

6)

7)

- — e | F!i — o ey —
- & oy I-h?' _:rl:..E:;! r‘." W % L .:;-:-::!!- "?:f.‘ ';':"‘ ] ',.,F' ?-,
] = N gk e Sy

Write the fraction above the percent ]

25/ 907 73 100~

33x S50« 667 833: 100

&

il

S o

O 33.3

Ll 74l 85.71 1007

i

O 0 20 30: HOr o0« 60 70r 80«

Or 207 HOr 60 80« (o]0

Oz 125« 25 375 S0t 625« 75 87.5% 100«
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Directions:
1. When multiplying by 0.1, it is the same as dividing by 10. Therefore, you can shift
the digit to the right by one place.

Forexample - 500 x 0.1 =50 and 50x 01 =5

2. When multiplying by 0.01, it is the same as dividing by 100. Therefore, you can
shift the digit to the right by two places.
-500x001=5andb0x001=05

x 0.01

100 x0.01 =

300x0.01 =

5x0.1= x001=___
50x0.1=

500x0.1=

20x01=____

200x0.1= 1000x 0.01=
8x0.1=__ 160x0.01=__
80x01=__ 1600 x0.01=

800x0.1= 5000x0.01=____
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Percents represent a rate out of 100 in relation to a whole. Therefore, we can
represent 10% as 0.10 and 15% as 0.15.

Hint - To mentally calculate 15%...

1. Determine 10% of the number

2. Find half of answer (5%)
3. Add the 5% to the 10% m

6) 180
7) 240
8) 310
9) 450
10) 680
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Percents represent a rate out of 100 in relation to a whole, 50% represents half of a
number and £5% is a quarter of a number.
Steps - Calculating 50%... R N e iy
1. Find half of the number ¢ EGRHCARED s OF IS nHmeers
by halving the number
Example - 50% of 148 2. Halve the number one more time
1 thd? the number 148 in half Example - 25% of 188
(148 1. 188+ 2= 94
i S . 2. 94+2=47

alf of the numbers below?

1) %
4) 212
7) a0
10) 11) 6 844

Fill in the table below

Number 50% 25%
1) 100
2) 200 8) 414
3) 240 9) 560
4) 164 10) [ 644
5) 188 11) 828
6) 264 12) 940
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When we want to find the percent of a number, scaling up and down is the best way.

For example, a shirt costs $80 at regular price. To calculate a sale price, we can scale
10% up and down. First, 10% of 80 is 8 which means 20% is 16 and 30% is 24.

B’ $80 .

e problems below ]

1) Tom is sho

for 15% off. Ho before tax?

2) Lindsay is out shopping for a new winter g
an additional 20% off. How much will the cod"

3) Joe brings $100 to the mall to buy some new speakers. He finds sOWE for $78.00

with an additional 35% off,
a) How much will the speakers cost before tax?

b) With tax costing 15%, how much will the speakers cost?

c) How much of the $100 will Joe have when he leaves the mall?
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What percentage is missing?

1) In a class, 63% of students take a bus to school and 14% get a drive from their
parents. What percentage of students walk to school?

3) A shop sells
that 38% of the dorms

tracked their sales last week and found out
glate, and 21% were vanilla. What

percentage of the dont 4 % N,
DY
4) In a candy survey, respondents wd ' 5 their favourite. They

could choose from 4 different options < gum & 3 or gummies,
18% chose gum, 27% chose hard candies, a
percentage chose gummies?

B) The Saskatchewan Ministry of Transportation studie
Saskatchewan. There were 3 options - gas, diesel, or electricit
and 4% used electricity. What percentage of vehicles use gas?

&) A zoo has monkeys, zebras, pandas, and snakes, Of all the animals, 23% are
monkeys, 29% are zebras, and 26% are pandas. What percentage of the animals are

7 i
snakes’

7) Zoe spends 3 hours on & social media apps each day. She spends 28% of
the 3 hours on Instagram, 15% on Facebook, 22% on TikTok, and 17% on
Snapchat. What percent does she spend on YouTube?
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Mrs. Hansen just finished marking a math test. Her class list
with the results of the test are below. She has simplified
some of the fractions, and some students wrote a different

A = 80% and up
B = T0%-79%

test, meaning they are out of a different total. C =60% - 69%
D = 50% - 59%

Questions Fill in the class list ] ﬁ ﬁ ﬁ F = 4%% or less

Student Mark Decimal Percent Grade

Stella

Matthew

Eli

John

Kai 1/4

vy b/l

Everly 1/5

Bella 75/100

Skylar 95/100

Leah B/10

Roman 1/8

Adrian 1/10

Easton 4/5

Savannah 77/100
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Fraction Fraction Percent

Or 207 4Oz 607 801 1007

Write the fraction above the percent ]

Or 10« 200 30+ HOr 50¢ 60« 70+ BOr 90: 100«
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Solve the problem below

4 friends competed in a 3-point shooting contest in basketball. They each
took 50 shots. Their results are below.

Valentina Claire Dylan Xavier
12/25 0.439 0.44 43%
a) Who the best shooter?

b) der of best shooter to worst shooter.

1) The grade &'s voted for their favourMs . jons and students
had to vote for one option. The results are by

a) What percentage chose pizza?

b) If there were 100 grade & students surveyed, how many
chose pizza?

2) On a science test, the percentage of grade &'s who scored A, B, C, D, and F is
listed below.

A, 17%

a) What percentage of students received an F? B 389,

C 21%

b) If there were 50 students who wrote the test, how many kidsgot | B | 14%
an F? F
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Graph each integer by writing the letter on the number line ]

20 -18 <16 14 412 <10 -8 6 4 -2 0O 2 4 6 B 10 12 14 16 18 20

a) 0 e) -18 i) 3 m) -6
b) 6 j) 15 n) -7
c) k) -20 o) -10
d) 18 p) 17

osite integers?
egative pair - ex. 3and -3 |

(hint: an opposite

1)

2) 6)
3) 7
4) 8)

Write the opposite integer below ]
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Mame:

Integers are whole numbers that can be positive, negative or zero. Integers do not include
fractions or decimals. We use positive integers a lot, but we sometime need to use
negative integers, like when we are measuring the temperature outside in the winter,

2) Steve was in debt g had -$10. He was able to make
some money by cutting

1
1

0 9 -8 -7 -6 -5

=1
b

-
-k o
-l
=

Earnings from cutting grass = §

3) A running back in football earned -7 yards in the fi
the game with 9 yards. How many yards did he get in the

1 i i '] i i 4 i i 'l B i 1 ' i
¥

0 9 -8 7 6 -5 -4 -3 -2 -1 0 1 2 3

Yards in the second half =

4) Tiger Woods scored a -5 in his third round of a golf tournament. He scored +8 in
the fourth round. How many more shots did he take in the fourth round?

*

Extra shots in the fourth round =
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1

We can represent a situation using integers. In cases where we have less than zero, we can
use a negative integer. When we have more than zero, we use a positive integer.

Example - Kaitlyn owes her father $20. Therefore, Kaitlyn has -$20.

Questions

Write the integer for the situation below

her mom $100. Write this
er,

1) Claire
number a

2) New Orleans is 1m below sea level.
Write this number as an integer.

3) The temperal™
The temperature o
10°C. What is the tempe

Tuesday?

4) The football team lost 4 yards on their
irst play of the game. Write this number

5) Mount Everest is 8,849m above sea
level. Write this number as an integer.

7) Savana owes $220 on her credit card.
Write her current balance as an integer,

8) Jack was paid $250 frd
employer. Write his new financial
situation as an integer.

9) The temperature started the day at -
9°C and ended the day at -1°C. Write the

change in temperature as an integer.

10) Alex is penalized 5 points for
handing in his assignment Late. Write this
number as an integer.
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Name:

-

Use the number lines to solve the questions

| 11 11111

RN AN

— e °)

._WEE?EE!]111.U|_:11.._.__J._.W__._¢_-.HHW_

SENUSEERNEREREEERENE

=0

o
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mgﬂ?55+3215-_|111“._4.:_-_r_u7._-.ﬁ.ﬂ.m
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b o e Lk
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AN SRR RN
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.m.ﬂ..nn_n.:.__u.__‘.__l.....__..ilu L=
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Winemu~ ST AT RenaRD

80 0

|1 HERERR
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Differente =

5)
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11111
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m__n_.__.nnflrrn.:-__l.zll..
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to compare the temperatures. Which temperature is higher? ]
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(15}
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(18]
ul
U E
o Crmmmw En@renemn-ST R rpe o R
o 1] PPt erpndilid
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10) -5

13) -7

16) 2

19) -3

22) 6

11) -4

14) -7

17) -6

20) -9

23) -5

3) -7

6) -3

9) 8
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"o 5 8 1 6 5 4 3 210 1 2 3 45 67 8 9510
Arrange the integers from least to greatest ]

1) 2, 3, -6, -9, 17 2) -4, 4, 8B, 2, -9

Answer the word problem below ]

The average temperatures for the first 5 months of the year are recorded
below. Arrange the months in order of coldest to warmest.

January = -5°C  February = -8°C March=-3°C  April=2°C May=10°C
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"0 -9 8 -7 6 -5 -4 3 -2 -1 0 1 2 3 4 5 6 71 8 9 10

Circle the largest integer ]

3) l, 3, -3, 6, -7 4) -2, -4, -8B, -1, -5
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BHG OO0
OO L0000
00

8 +(-6)= 2
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1) 3+(-5)=-2

HEH QOO

TR Il [Iraw counter chips to represent the numbers and then use zero pairs
2) 5+ (-7 = 3) (-7 +b6=
5) (-2)+5+= 6) (-3)+3=

7) 6+ (-2)=

10) (-10)+ 8=

11) (-13)+ 9 =

9) 13 +(-8) =

13) 19+ (-9) =

14) 15+ (-17) =

15) (-20) + 18 =
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Word Problems Solve the word problems below using counter chips

1) Alice played 2 rounds of golf. Her final scores for both rounds are on the
scorecard, What is the total score for the two rounds?

Round Score
1 -7
i +10

Total Score

Equa

Equation: +

3) Leah played 4 rounds of golf. Her final score
is her total score?

Rl R2 R3
-5 3 -3

Equation; + + + =

4) Miles played 4 rounds of golf. His final scores are written on the scorecard. What

is his total score? -
R1 R2 R3 Ri Total Score

7 2 =7 -3

Equation: + + + =
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h+b=2

-

-0 -3 8 7 6 5 -4 -3 -2

-1

L

Questio:

Use the number lines to solve the questions

) -T+4=

"0 8 B -7 & 5 4 -3 -2 -1 D & 7T B 8 10
7) 8+ (-4)=

) @ < 7 & 5 & 3 -2 -1 D & 7 B 85 10
g) -8+5-=

10 B @ 7 46 5 4 3 2 <1 DO E 7 8 % 10
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Answer the word problems below - Writ

1) A football team loses 6 yards on one play and then loses 5 yards oe next play.
How many total yards did they lose?
ﬁq .

¥ = '.. "‘A

v

2) In golf, Roger played two rounds. He scored a +4 and a -6. What was his total
score? R

e

+ = CEN
_—.
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=18 =17

-13 -14 -13 -12 | =11 -10 '] =¥ -8

= g I I ) = . B = |

B & 7 A q 10 11 12 | 13

14| 15 | 14 1T | 1B ] 17 ] 20

Part 1

Solve the questions below

1) 5+ (

2) 1

3)-12+5+

+ (=5) =

7) 17 + (-6) +

(-8)=

4) 13 + (-6) + (-4) =

+

Answer the word problems below. Write the B

[
|
§-15+(-5+11= | |
[
[

L

o
o My
T -

]

1} You take 9 steps forwards, 7 steps backwards, another 5 step
another 4 steps forwards. How many steps have you taken?

2) The Big Dipper rollercoaster climbs straight up 30m above ground level before it
drops 18m. Next, it climbs another 22m before it drops 17m. When the ride is
over, the participants are how much higher than ground level?
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1) 42 + (-13) =

Adding Integers Rules

Adding 2 positive integers will always give a positive answer

Adding 2 negative integers will always give a negative answer
Adding integers with different signs = use the larger number
Adding integers with different signs = use the larger number

e sign, add them and keep the sign
t signs, subtract them and use the sign of the larger number

2) 57 + (-66) =

6) (-151)

3) -132 + (-112) =

7) 213 + (-158) =

4) (+33) + (+86) =

8) -328 + (+113) =

b0 0l
|

|
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20 | =19 | a8 | a7 | a5 | oth | Am |||l 2|l |S | 5] 2] 2]
p ||z | a|ls]|s5|e] 7] |9 |w|n|w|w|w|w|w|17]|we|1w|a

-4, -8, -2, -3, 0O

-6, 4, -2, -3, 6

-»
o Slish 2ast to greatest
>

1) -7, 2, -5, -5, 11, -11, -7
Part 3 Solve the questions below
1) 9+(-5)= 2) 11+(-9) =
4) (-13) + 17 = 5) (-31)+19-= &) (-43) +15 =
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Answer the word problems below. Write the equation for each question ]

1) The winner of a golf tournament scored a -28 after four rounds. The last place
golfer scored a +33. What is the difference between these two scores?

2)
th Pole is -20 degree Celsius. What is the difference in
hetwo Foles?

3) You take 17 steps forwards, 15 s
and another 19 steps forwards. How m

steps backwards,
n?

4) A submarine starts at sea level and dives 17m down before coming up 11m. It
makes another plunge down 43m and then rises 27m. How many meters is it
below sea level?

ceas”
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Match the visual fractions with the improper fractions and mixed numbers |

. Mixed Numbers and
Visual Fractions Improper Fractions

AR |- -
NN n 18

(DD 10

- AN
4)

1

d) &5

e)
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1) 5= =

1
E}ﬁs

B
3}55

A
5 3—

§
6}6&

_1 - _.-.-.-_2 ] ——3 -
16) 7 5 = 17) 6 n 18) 8 P

i = 4 ™ 4. =
19) 4 5 = 20) 3 . 21) 5 5
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A proper fraction has a numerator (top number) smaller than the denominator (bottom
number). When we place a proper fraction on a number line, it will always fall between 0

and 1. < : : I >
0 3 2 1
3 3

Example
1) The denominator tells us how many equal parts are between 0 and 1
2) The num tells us how many parts starting from zerc we move to plot our fraction

e proper fractions on the number lines below ]

Put in order from least to greatest:

7
— = - ' ' '
9 9 0 1

5 3
315. 5

Put in order from least to greatest:

y £ 82 0 ettt

Put in order from least to greatest:




7} — E = — — — M = Iﬁ = -5—-6
B) = —_— = = —_— = _— — é— = l




7)

1]

8)

1]
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0

767 &7

1 g
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7)
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Part 1 Write the fraction beside the visual fractions
1) 2)
the improper fractions to mixed numbers J

4

- A
r »
Convert the ed ﬁ( per fractions ]

3
1) 5

&

. Qf

_ Y
= 3].,.{‘5_

Put the mixed numbers in order from leaS¥to g

1 2 B 3 1

) A= 2 B 27 ’

2) 2 g7 ¥ 3 2
3& 15 &45 T'? aﬁ:
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Plot the fractions on the number line

3)3

v

=
| e
| &
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Write the ratios for the questions below

M

Answer the word problems below ]

1) Ratio of 35 Words: 5_:' H_E'Uﬂ of Words:
balls to 78 Natio: sitting for 30 Batia:
strikes S minutes to aLa.
; Fraction: standing for 60 | Fraction:
6) Ratio of 1 Words:
dunk grade 8 to 1 Ratio-
pointers grade 7 :
Fraction:
Word Words:
3) Ratio of 10 . 2 -
cars to 3 trucks | *atio: shot | Ratio:
Fraction: Fraction:
4) Ratio of 2 Words:
coffees to & Ratio:
waters ,
Fraction:

scored 5 goals today. How many shots did they take?

1) A baseball pitcher threw a ratio of 1 ball to 3 strikes. The pitcher threw 75
strikes. How many balls did they throw?

4 7™

- L ]
2) A hockey player has a ratio of 1 goal for every 8 shots they took, The player

-




Name:

A ratio shows the relationship between two amounts.

mar—2l BN BN B B B AN A

The ratio of bananas to apples is 1:8. For every banana you have, you have 8 apples.
This means that if you had 3 bananas, you would have 24 apples.

The ratio of burger to fries is

If yau had 12 burgers, how many fries would you have? frie

ST T 0V00P000P0CPOCPOO

The ratio of pineapples to strawberries is

If you had 20 pineapples, how many strawberries would you have? strawberries

@ﬁ-###ﬁﬁ;#*

The ratio of jam to bread is

If you had 9 jars of jam, how many loaves of bread would you have? loaves

Y E i} g zlinersirmmie=h i
et Simnle Sha Al E gt
IpEr I il TR



A ratio shows the relationship between two amounts.

E;amnleﬁﬂ'%@?}gmmm&%%%

The ratio of cars to bikes is 2.8. There are four times as many bikes as cars. You could also
say there are four times less cars than bikes. We can scale down the ratio and say the ratio
of cars to bikes is 1.4, We can also scale up by saying the ratio of cars to bikes is 414, Thess
are equivalent ratios.

Questions he ratio of the images. Then write a scaled up and down equivalent ratio

k-

&

Scaled Up Scaled Down

Scaled Down

The ratio of laptops to televisionsis:

"I rrxIa

The ratio of erasers to pencils is:

e "'"'Hm-rmzn-:;ﬂmn
& o e 8 = & 8 = o

l

Scaled Up | Scaled Down

The ratio of juice to chips is:

= —
........h et ebsdsey
R R R S

Scaled Up | Scaled Down

The ratio of basketballs to soccer balls is:




Questions

Circle two eguivalent ratios for each of the questions below

1) 2:8

2:6

4:8

4:16

1:4 1

1.8

4:22

1:6

1:4 4:24

8) 10:30

10:60

20:15

5:15

20:60 20:10

9) 2:20

6:60

6:80

1:20

1:30 1:10

10) 4:8

8:12

d:16

8:14

e i 2:6
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Ty s '1-‘!'- FE
18 - At the Zee
m Draw pictures D Use a solution statement D Show your thinking ]

1) At the zoo, the ratio of lions to leopards is 4:1. There are & leopards. How many
lions are there?

2) At the zoo, thera
are there?

_ There are 4 eagles. How many goats

3) At the zoo, the ratio of alligators to crocodiles must be 3.7, There alligators

and 25 crocodiles. How many crocodiles do they need to release? I

b) How many alligators could they have gotten if they didn't want to give any

&

crocodiles away?
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Write the ratios for the questions below ]

1) A store sells sugar by the kilogram. If a
costs $7.50, how much would a 1kg bag cd
the ratio table to help find the answer.

. Words: . Words:
1) Ratio of 41 3) Ratio of 27
balls to &7 Biakin: cars to 12 Ratio:
strikes. trucks.
action: Fraction:
. . Words:
2) RatioW’ 10 4) Ratio of 25
green apples students to 1 Ratio:
15 red apples. teacher. '
Fraction:
Fill in the ratic“sfbles Ili er the gquestions J
yr

Cost 5

2) Sam drives 550 kilometres in 5 hours. How fast

did he drive per hour? Use the ratio table.

Hours Distance
1
2
3
4
5 550
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Answer the word problems below J

1) At the zo0, the ratio of gorillas to monkeys is 1:5. There are 5 gorillas in the zoo. How
many monkeys are there?

2) At the
are ther

tio of snakes to lizards is 1:10. There are 20 lizards. How many snakes

3) At the zoo, the rati be 2:6. One of the lions is released back

into the wild, How many

Circle two equivalent ratios for ea

1) 2:8 2:6 4:8 &:16
2) 2:12 1:8 4:22 1:6 1:4 4:24
3) 68 3:4 12:14 12:18 12:16 3:8

4) 2:4 b:6 4:7 4:8 1:4 1:2




Grade 6

Patterns and Relations

Curriculum Expectations Pages

PRO1

* product that contains 188 pages

Students will be expected to demonstrate an
understanding of the relationships within tables of 5-14,17 - 38
values to solve problems.

Preview of 80 pages from this

total.

Students will be expected to represent

PRD3 | generalizations arising from number relationships 42 - 89
using equations with letter variables.
Students will be expected to demonstrate and explain

PRO4 | the meaning of preservation of equality concretely, 20 -93

pictorially, and symbolically,
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In Out
225 230
270 275
303 308
481 486

il in the input/output tables below

Rule: add 6

In Out In Out
605 702
631 T26
676 T63
689 799

Out

810

831

849

8748




Name:

PRI

g the input/output tables below

Fule: multiply by &6 Rule: multiply by 5
In Out In Out
b 5
10 10
20 20
alll a0
Rule: multiply by & Rule: multiph
In Out In
T 21
12 33
15 50
25 110 20
In Out In Out In Out
5 8 b
10 11 8
20 16 10
100 31 20




20 30
30 40
a0 60
90 100

Ru
In
43
12
1
113
Rule: subtract 7
In Out
58
96
131
164
Rule: subtract 11
In Out
215
268
292
305

in the input/output tables below

)

Rule: add 3 Rule: add 8
Out In Out
71
& 34
113
149
Rule: sub tract 12
In Out QOut
112
153 141
177 168
193 199
Rule: add 13 Rule: add 15
In Out In Out
326 412
361 436
385 468
400 497




Name:

10
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Fill in the input/output tables below

Questions
Rule: Subtract 16
In Out
49

82

In

28

Ly,

51

In Out
147
182

240

276

Rule: Add 14
In Out
B1
127
174
201

Rule: Multiply by 3

Out

12

31

18
Rule: Add 21
In Out
308
328
364
378
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A train has the following people in each :
train car, 1
* "
; g
4 g
T 3
i 2
§ ;
Carl 1 2 3 4§ 5
Cars

Term Number
(Cars)

Term Value

(People)

1) What is the pattern rule? Start at

Z) How many people would be in train car 107

3) Is the line on the graph straight or curved? Why do you think that is?

4) How many people would be in train car 20?
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Steven is looking for golf balls in the g
woods. He finds the following balls .
each hour, ,

Term Number

(Hour)

Term Value

(Golf Balls)

1) What is the pattern rule? Start at

3) If the graph continued, could a straight line that continued tell you a future term
number? Explain.

4) What hour would Steven find 27 golf balls?
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Questions

Translate the growing patterns into a table of values and a graph

1) Stacy marks an x each day for how
many pieces of fruit she eats.

XOEXPXIXOXPXIXOXIX

Term Number
(Day)

Term Value
(Fruit Pieces)

# Of Fruit Pieces

14

12

10

2) Chris puts a rectangle for every book
he reads in the first 5 months of school,

# 0f Books Read

10

(Books Read)

] | 0
Month1  Month2  Month3  Month & 3
Months
Term Number 5 g
(Month)
Term Value
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A linear pattern is a pattern that increases or decreases by a value that remains the
same. Linear patterns can be plotted as a straight line on a graph.

Continue the line on the graph and fill in the table of values ]

36
34
32
30
28
26
£d
)
20
18
16

12
10

O kOB

Toothpick Pattern

;] | 5 b ¢ S g 10

mtes T rrry MU b

11

12

Ter
Num

m Term
ber Value

1

< | 88 | =3 | O | 2R | B | L | RS

et
=

-
i

youd like.

1) Draw the toothpick pattern below for the graph/table of values.

se any design

Term 1

Term 2 Term 3

Term 4

Term 5

2) Why is this graph a linear pattern?
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10 14

16
8 14

13
0 10
2 o

6
2 .

2
0 0

5 1 2 3 4 5
2) Linear Mon-Linear
A0
25
20
15
10
5
0
i
3) Linear Mon-Linear 4} Linear
26 22
24 20
2 18
20 16
18
16 14
14 12
12 10
10 q
8 5
&
4 d
2 2
L] LE
2 4 5 1 i 3 4 5
5) Linear Mon-Linear 4) Linear Mon-Linear
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LQuestions

Circle if the pattern is linear or not based on the table of values

1) 2) 3)
Term Number | Term Value Term Mumber | Term Value Term Number | Term Value
1 2 1 10 1 15
2 6 2 14 2 18
3 10 3 20 3 21
4 4 26 4 25
B 32 5 28
Linear ar Mon-Linear Linear Mon-Linear
4) ) 6)
Term Number | T Term Number | Term Value
¥ 14 1 25
i 19 i 2 75
3 24 3 125
& 29 4 175
3 34 D T4 25
Linear Mon-Linear Linear Nan-Linear inear
7) 8)
Term Mumber | Term Value Termn Number | Term Value Term Mumber | Term Value
% 112 1 210 1 200
2 126 2 260 2 650
3 138 3 310 3 700
Ll 152 & 340 4 dal
5 166 3 410 3 1000
Linear Non-Linear Linear Mon-Linear Linear Non-Linear
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A linear pattern is a pattern that increases or decreases by a value that remains the
same. Linear patterns can be plotted as a straight line on a graph.

Questions Answer the guestion below using a table of values and a graph ]

Kelly has made a pattern using toothpicks. She has displayed her pattern below.

A O [KENIN | SZREST

Term 3 Term 4 Term 5

Term T
Number Value

L&

14

12

10

1) Why is this a linear pattern?

2) Extend the line on the graph. What will be the 7th and 10" term value?

Tt term 10th term




Chirsieiuf e Coninact o

In a linear pattern, we can have a recursive or functional relationship
between variables. A recursive relationship describes the pattern between
successive numbers in one of the rows/columns of a table of values.

A functional relationship is a general rule to describe the
relationship between the dependent and independent variable in a table of
values. To find the function, we look across the table instead of beside.

|s Jeffrey describing the recursive or functional relationship? l

L Recursive or
Jeffrey’s Description Functional
1) 4 The pattern goes up by 3 each
y q time.
2 x | 10 number is multiplied by
y | 100 | 200 10
5 X 1 2 3 4 n Ltiplied by
y | 5 9 | 13 | 17 4 an |
,ﬁ] X 1 2 3 -EI- The pat
¥ 8 12 16 20
X 1 2 3 4
5) Tx + 11
¥ 18 4 32 39
FPart 2 Provide a recursive and functional description of the patterns
Pattern Recursive
n X 1 .4 % b
y 9 9 1% 21 Functional
retiam Recursive
2) X 1 i 3 4
y 12 20 28 2% Functional
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When finding a random term in a pattern, we can use a variable. Often n is
used to take the place of the term number. When we use n, we can change the
value to find the term value for any term number.

We can find the value for n by looking at the pattern between the
independent and dependent variable. To do this, we look across the table
from the term number to the term value.

Tip: To find the function, determine how many is added from one term
value to th . Try using this number as multiplication in your expression,
If it doesn u may need to add or subtract to find the function.

tion by determining the pattern between the variables J

Term Term Term Term
Number Value Number Value
1 3 1 1 4
2 & 2 5
3 9 3 b
b 12 & 4 7
5 15 8
g8 9
3n 2n-1
Term Term Term Term Ter Term
Number Value Number Value Numb Value
1 3 1 & 1 16
2 ] 4 7 2 22
3 7 3 10 3 28
b ? 4 13 4 34
9 11 5 16 5 40
? 10 11
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Use the function to fill in the table

Out
Zn

Out
2n+5H

2

4

Out
2x -3

e | | M =

10

20

30

ut

40

50

10

Out
2p0 + 10

Out
10p - 8

20

40

&0

80

12

100

15

In Out
n on -2
1

2

3

&

]

In Out
X 4x + B
1

3

In Out
p 5p - 20
5

10

15

20

25
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Questions Answer the question below using a table of values and a graph ]

Joel has created a pattern using his blocks. Translate the pattern using the table of
values and graph.

Term Number

1) How many blocks would Joel use in his 10
shape if he continued his pattern?

2) Write an expression that represents the function

3) Which shape would use 63 blocks?




Challenge Answer the word problem below. Use the T-Table to help. ]

¥ou have been put in charge of organizing the end of the year banguet for your
baseball team. You want to have as many seats as you can.

The diagram below shows how many people can sit at the tables.

X X X X X X X
X X X
X X X X X
a) Fill in the ut the pattern of how many people can attend

the banguet.

Tables

# of Seats

b) Write an algebraic expression that repres

¢) How many people could you seat if you had..

i) 10 tables:

ii) 15 tables:

d) What if you didn't put the tables together? Would 8 tables together fit more or
less than 8 tables apart?
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hour!

a)

b) Write an algebraic expression that repr

c) How much would it weigh in kilograms after 10 days?
Remember, 1000g = 1kg
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Word Problem ]

Colton has been saving money since he was 5 years old. He is now 15, He saved $25
when he was 1, $45 when he was 2, $65 when he was 3 and $85 when he was 4.

a) Write a table of values to represent the situation.

b) Write an algebraic 0 the function.
c) How much will he save when he is 107 %

d) How much will he save when he is 207




'l_l"||lI or |j F ro tl Llem

Becky is ramping up her exercise each week. In week 1, she exercised 60 minutes. In
week 2, she exercised 110 minutes. In week 3, she exercised 160 minutes. In week &,
she exercised 210 minutes.

a) Write le of values to represent the situation.

b} Write an algebraic exp function.

c) If the pattern continues..

i) How much will she exercise in week

ii) How much will she exercise in week 307

iii) How much will she exercise in one year? (week 52)
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Questions

Fill in the T-Tables by counting the lines in each figure

Algebraic Expression

2)

3)

Figure 1

Figure Lines
1 T
2
3
5

Algebraic Expression

o

Figure 1

Lines

Figure 3

I
Figure 2 Figure 3
Figure 2 Figure 3

Algebraic Expression

Figure Lines

1

Z

3

10
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GQuestions

1)

2)

L]

Figure 1

l

Figure 2

Figure 3

Algebraic Expression

Figure

Lines

82

100

112
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Questions Fill in the T-Tables and draw figure 4

Algebraic Expression

Figure Lines
1
2
[] 3
A
1) = '
) Figure 1 Figure 4 i
p -
L 118

ic Expression
u 5 EE—

1

2

3

L]

4
2) Figure 1 Figure 2 Figure 3 Figure 4 %
71
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HQuestions

Connor is practicing his shooting skills in basketball. He decides to
take 225 shots each day for 10 days,

Term Number

Iﬂavs:n:.zaasﬁ:raam

Questions

1. Which day did
Connor finish 1500
shots?

2. How many shots
Connor take in

]
i
o
2=
(95
days, who would
&75 have ’Fahen more?
Explain.
450
225
0
y| 2 3 & 5 & T B 9 10
Days
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Ve
Questions Complete the table of values and graph the results .

Jesse is saving her pay cheques from work each week for 10 weeks. She makes $450 each
week. She is hoping she can buy a new bike for $4 000. Fill in the table below to find out,

Term Number
(Weeks) 1 2 3 4 5 & 7 B

10

=0

ic Expression

Questions

1. Can Jesse buy
her new bike after
week 107

Z. How much did
e save in 10

would she
need to save

$6750,

4. How much
money would she
have after 13
weeks?
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Challenge Answer the problems below

Matt is building a structure using blocks. The construction of his structure will be
completed in 5 phases,

a) Matt decided to add the same number of blocks during each of the 5 phases, He
has 3 giferent design ideas. Fill in the tables below.

Pha cks Phases | Blocks Phases | Blocks
1 1 8
2 12
3 3
L 22 4
+ 3 36
b) Whoops, Matt made a mistake w e CO le. His structure was
supposed to add the same number of b ing . Find his error

and correct it.

Phases 1 2
Blocks 13 18 21
c) You want to build a2 house out of blocks, but each block costs $ ave
created 4 different design plans. You have $70 to spend. Which design will you
choose?
Design | Blocks %
1
2
3
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Part 1 Translate the increasing pattern into a table of values and a graph ]

Fillin the table of values and the
graph by translating the growing
pattern below.

Term Number

Term Value

Pattern rule:

B

7

1) How many circles would term 20 have?

Z2) Which term number will use 100 circles?

3) Why is this graph a straight line?




Write an algebraic expression that represents the function

Term Term
Number Value
1 4
2 5
3 b
4 7
5]

Term Term
Number Value
1 3
2 b
3 9
4 12
]

Term Term
Number Value
1 4
2 9
3 14
4 19
]
20

Figure 1

_— =
I
-

Figure 2

Figure 3

about the pattern. Draw the &' figure

Figure &

Term Value

1) What is the pattern rule? Start at

each

time.

2) How many rectangles would figure 25 have?

3) Write an expression that represents the pattern




Answer the question below. Show your thinking! ]

Steven has $20 in his bank account, He earns $10 for every lawn he mows.

a) How much money does he have after mowing one lawn?

b) How mych money does he have after mowing two lawns?

that represents the number of lawns he cuts and his

d) Write an algebraic expression that repr

e) After cutting 20 lawns, how much money will Steven have?

f)  How much will he have after cutting 52 lawns?
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Questions Is the number sentence an expression or equation?

1) Paul has 20 cookies but needs 30 for his class.
Equation | Expression
20+ c=30

s the following function:
Equation | Expression
dn-1

3) Ma i week. She has already

run 22km. Equation | Expression

4) The cost to enter a
Equation | Expression

5) Jeff works at a garden centre and
He can figure out his pay by using the follo
18h

Expression

6) Bailey made $400 last week working with her mo
She worked 20 hours.

20 x w = 400

T) Jane had 200 candies to give away on Hallowesn, She

has 25 left. Equation | Expression
200 -c=25

8) Ashley had 300 candies to give away on Halloween.
She will give 3 candies to each kid. How many kids can

she give candy to? Equation | Expression

300 -3 =k

9) Candy bags come in 20 packs. The total number of
candies is represented below: Equation | Expression
20b
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Using algebraic expressions helps us understand mathematical ; ; _;"ﬁ e
situations. We can use a variable to replace a changing number, Ty ,,.mm | WI'I ]
like how many tickets are sold to a game - t x 10 e

Write each algebraic expression in words.
Use the words, "a number” in place of the variable

Part 1

1)9 -t

Mine subtp

Write an algebraic expression for each

1) Twelve times a number subtract eight

2) Divide a number by seven and multiply it by a different number

3) A number is subtracted by fourteen divided by five

4) Triple a number subtracted by double a different number

5) Divide eighty by a number. then multiply by four
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An expression is simply numbers and at least one operation put together without
an equal sign. For example, B + 2 is an expression.

An algebraic expression is when we use a variable in an expression. The
variable represents an unknown value. We use algebraic expressions to help us
solve mathematical situations.

For exam
algebraic

b if you were selling lemonade for $2, you could use the following
ssion where the variable ¢ represents cups sold: 2¢

ion, we have at least one term. A term could be a constant
glso include a coefficient.

4 terms
T

A Y
In+2y-3+93
ZoA

ients <=~ wvariables constants

d---'-'-'-'-----
coefficient variablB

Terms
Variable We use a letter
Constant HER-ARY

variables. Therefore, the number is

Coefficient | A number used to multiply a variable

e Is either a single number or a variable, or numa

multiplied together

Questions Answer the questions below about the expression provided

Expression n -3y -8B+ 4

List the variables

List the constants

List the coefficients

How many terms are there?
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A mathematical expression is similar to an equation, but it does not have an equal
sign. We use expressions to describe a mathematical situation,

class.

Expressio

2) Court

Expr

3) Alyse

Expression:

&) Hani gives 2 freezies yf friends.

Expression:

5) Scott has 11 sodas in his fridge an®d

Expression:

6) Dan buys 2 dozen donuts and eats d number of d

Expression:

7) Steve buys x number of cookies and gives 15 to his staff.

Expression:

B) Alexa has 35 suckers that she shares equally with her f number of friends.

Expression:

9) Brian has 200 gummy worms and takes n number of gummies from his brother,

Expression: ! g !

10) Howard gives 3 books each to s number of students. _

Expression;
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4)x + 2

Evaluate the following expressions for x = 4
3) 63-x

k-]

1) x+16

2) 10x

Evaluate the following expressions for x =9 an

3) Bh+x-p

4) x +9 + (3p)

1) x+p-10

2) 10x + (2p)

7) bx - 5p

8) 8p + 3x

5) 18 +x+(5p) | &) 9x- (18 -p)
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When solving an equation, you need to follow the order of operations. This means
wyou have to solve the equation in the correct order, not just from left to right. Using
BEDMAS helps us remember the order to solve.

1. Brackets 2. Exponents 3. Division or Multiplication (whichever is
first) 4. Addition or Subtraction (whichever is first)

Example2 y=5 Example 3 y=3
y-(1+2) 10-3xy
5-(1+2) 10-3x3
9-3 10 -9

1
Evalua ing Mans for x = 4 |
1) x+15-3 2)" 4 3) 42 - 2x

4) 4x 9+ x

5) 11x - (5 + 5)

Evaluate the following expressions for y =6 |

1) y+7-2x5

2) b+y-4

3) 100-2yx2




P

m Ben and Dan both answered the questions below. Circle who's right

Question Ben's Answer Dan’'s Answer
y=23
2+ (y+5) 10 8

y=17

7 y-2%(5-2) 15 23
y =20

8 100 + (5 +y) 40 b
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Write your own expressions using y = 6 and evaluate them ]

1)

2)

Write your own expressions using the numbers 5, 10, and variable t=5

1)

2)
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Evaluate the following expressions for x = 4

1) x+16

2) 10x

3) 63 -x

4) x + 2

8) 12+x+8

Part 3

Evaluate the following expressions for x = 9 a

1) x+p-10

2) 10x + (2p)

3) Sh+x-p

4) x +9 + (3p)

) 18 +x + (bp)

&) 9x - (18 - p)

7) bx - 5p

8) Bp+ 3x
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There are an endless number of expressions that represent the same number.
For example, both of the expressions below equal 10

when y =5

Equation 1

y+5

Equation 2

by - 10

1)

ifferent expressions that represent the number 8. Use y = 3

3)

2)

Write four different expressions using
represent the number 6. Use y = 10

1)

2)

3)

4)
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that are not equal.

B+ 4 =12

23 + 15+ 36

Are the equations equal? Put a slash through the equal sign for any equations

47 + 13 = 50

P
Put a slash through the equal sign if it is not balanced @9
“_-.\ r—J

4)58 + 122

T}?2+5=?T

2) 43 + 10 = 63

3) 41 + 13 =55

6) 82+ 15=98

10) 125 + 15 =150

11) 137+ 11=1

114 +7 =122

13) 12 + 144 = 158

14) 171 + 14 =185

16) 192 + 8 = 200

17) 180 + 13 =193

18) 155 + 26 = 181

19) 210 + 50 = 250

20) 212 + 12 =224

21) 255 + 40 = 285
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Balancing equations means both sides of the equal sign must be the same.

52 Examples: ?,f
37+154 52 46+ 324 78

Fill in the missing number to balance the equation

00

o

1) 4 3)67+12=

4) 15 + =57 | 6)68+ = 81

7)

10) 72 + 14 = 11) 64 + =

13) 68 + =82 |14)83+15=

16) 105 + =116 [17) 121+ 14 = 18) 145 + = 160
19) 177 + =198 |20) 215 + 41 = 21) 217 + = 229
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A variable is a letter that represents an unknown number. When we don't know a
number, we can use a letter to take the place of the unknown number,
Example: 15+n=35

We can figure out the unknown number by balancing the equation. In this equation,

n=20

ind out the value of the variable J

n+13=20 27+n=35
n= n-=
6+p=51 p+48-="79
P = p=
89 +y=101 124+ 15 =y
y= y=
165+t =181 05+t =220
t= t=
231 + a = 245 296 + a =271
a-= a-
281 +9=5 290 + n = 300
5= g = g =

SEIAaVE The formula for calculating the perimeter of a shape is to add the side lengths J

Find the perimeter with the measurements given for the 3 side lengths.

1) a=4 b=7 c=10 P= 4) a=12 b=25 ¢=30 | P= "
2) a=7 b=12 c=16 |P= 5) a=19 b=31 c=45 | P= b
3) &=9 b=17 c=23 |P= 6) a=15 b=23 c=36 | P=




10) 222+n=231
ns=

5) 82+p=10 6) 9.1+r=105
p = ¥
+16.5 =185 @) t+11.4=15
{=
12) 316+5=p

13) 426+n=441

n:

16) 77.5+s5=815
5 =

1)

2)

IIII.IIII. or ::l |:I ro h |_ EMES

Solve the gquestions below

Jake has 2.5 pizzas left over from last night. His friend brings over some more
pizza. They now have 4.5 pizzas. How much pizza did his friend bring?

Kelly is 1.2 meters tall. She hopes to grow to be 1.7 metres tall. How much will she

have to grow?
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When we add numbers or variables (letters) together, we can change the order of
the numbers/letters without affecting the answer. This is called the communitive

property.

Directions: Isaac works at a fast-food truck. He sells burgers (b) and fries (f). His
job is to calculate how much the customer owes in total (t) for their order.

o Sl Y
.

Write 2 equations for the orders below

Equation 1
(f+b=t)

Equation 2
(b+f=t)

J+8=11

8+3=11




When we calculate the perimeter of a rectangle, we need to add all the sides
together. The order of how we decide to add the sides together will not affect the
answer due to the communitive property of addition.

Formulal-p=a+b+a+h el Formula 2
p=12+4+12+4 betem P=2(arb)
p =32 p=2x(12 +4) =32

Write 2 equations for the side lengths below |

# Length B Equation 1 Equation 2
1

2

3

4

3 14
& 20 8/
7 17 11
8 22 14
) 1% 22
10 27 14

m Using multiplication and addition, write two equations for the side lengths ]

Side length A | Side Length B Equation 1 Equation 2
7 3 2(7+3)=20 2(3+7)=20

5 &
) 5
b 8




Alice works at a candy shop. She sells suckers (s), gum (g), and chocolate bars (b).
Her job is to calculate how much their order costs (c). :

- B

Write the equation and find the answer ] L\\ﬁ

# Customers Order ($) Equation Answer
c=g+b+s

¥ 8 5=9 22
c=5+8+9

6 g=31 b=16
7 | g=24 b=18 s=16
8 g=38 s=24
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Luestions

Answer the questions below

1) Alex and Ryan had 37 points together in a basketball game. Ryan had 21 points,
Which equation will tell us how many points Alex had?

Ll

a+2l=37

37 + 21 =2

21 +a-=137

21 -a=37

ad $75 together at work. Bruce can't remember how much he

121 +b =65

b +65=121

4) Brad scored 3B points in a basketball game. He had 12}
Which equation will tell us how many points he had in the seco

0 +38=12

38+12=p

38 +p=12

12 +p =38

5) It snowed 31cm in two days. The first day it snowed l4cm. Which equation will tell
us how much it snowed the second day?

s+ 14=31

31+14=5

14 +5=31

3l+s=14
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Questions Write the algebraic equations and answer the question

1) Luna drove 321km to get to a friend's house and then they drove to the mall. When
they got to the mall, she had driven 418 km in total. How many km did she drive to

the mall (m)?

2) Carter
for beati

oints for beating level 1 in a video game. He got 238 more points
w many total points (t) did he have after level 27

ha er beating level 3. How many points did he get in

Bonus -
level 3 (L)?

3) The Lakers scored 122
Bryant had B1 points for the
have?

inst the Taronto Raptors. Kobe
) did the rest of the team

4) Wyatt's boat can hold 500 litres of gas. He went out b
docked the boat after he was done, the tank had 128 litres left.

did he use?

5) Leo had $736 in his bank account. He deposited some more money after gardening
for a summer. Now he has $980. How much money (m) did he make gardening?

————
e
-‘- =
a
1P o | FEEl IR
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Questions Solve the problems below. The first one is done for you ]

1) Jan spent x amount of dollars on new clothes at the mall. She bought jeans (j) for
$79, a shirt (s) for $35, and a hat (h) for $49. Find the value of x.

Equation:x=j+s+h
x=79 + 35 + 49

x=$163
2) Aiden tore. He bought dog food (f) for $78 and bones (b) for $49. He
also b (t) for $62. How much did he spend (s5)?

Equation :

3) Josiah spent $830 total (t -
%475, new gloves (g) for $190, aMd a
n worth?

Equation :

Therefore,

4) Barry bought 4 new t-shirts (s) that all cost the same a
(t) price of $208. How much is s worth?

Equation : n + + +

Therefore,

5) Henry bought a new computer setup for a total (t) of $999. He bought a computer
for ¢ number of dollars, He also bought a keyboard (k) for $82 and a mouse (m) for
$58. How much is ¢ worth?

Equation :

Therefore,
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Are the equations equal? Put a slash through the equal sign for any equations that
are not equal

16 - 8 = 8 95 - 11 =+ 86 105 - 12 = 93

Questions Put a slash through the equal sign if it is not balanced ]

2) 46 - 4 = 42 3)57-6=51

4) 68 - 1 6) 75 -13 =63

7) 84 - 14="70 9) 108 - 12 = 95

10) 135 - 15 =110 11) 126 - 20 =

13) 168 - 22 = 144 14) 174 - 13 =161 15) 1

16)189-0=0 17) 192 - 11 =180 18) 181 - 15 =166

19) 195 - 30 = 165 20) 197 - 16 =182 21) 171 - 26 = 155
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54 - 6 =| 48

Examples

87
/A

Balancing equations means both sides of the equal sign must be the same.

72-[15]

Fill in the missing number to balance the equation

1) 36 2)53-17-= 3) 44 -5 =

4) 58 - 6) 65 - = 5D

7)

10) 83 - 11 = 11) 91 -

13) 105 - =99 |14)112-9=

16) 132 - =119 |[17) 146 - 15 = 18) 158 - = 136
19) 173 - =164 | 20) 185 - 17 = 21) 197 - = 182
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n= 14

A variable is a letter that represents an unknown number. When we don't know a
number, we can use a letter to take the place of the unknown number.

Example: 39 - n= 25

We can figure out the unknown number by balancing the equation. In this equation,

Find out the value of the variable

'!'|I'=

T 76-y=61

2) n-15=20 3) 47-n=35
n= n=
4-p=h3 6) p-16=50

p=
9) 92-13=y

t=

10) 105-t=91

d =

13) 153 -a=137

14) 168 -

a=

a=145

'}.‘:

Calculate the change a customer gets when they buy something

When a customer buys something, the formula for calculating their change (c) is money
given (m) subtract the price (p) of the itern. Therefore,c=m -p

m=20 p=15 | c=20-15 c=5 m=6&0 p=51 |c= - Je=
m=30 p=19 |c=_ - |c= m=100 p=77 [c= - Jcs=
m=50 p=27 |c=_ - |c= m=100 p=41 [C= - |e=
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There are some instances where we know the values of variables and
need to plug them into an equation. For example: * * *

a-b=c a=32z b=12 *ﬁ, -,'a.*

32-12=c
¢ =20 B8

Find out the value of the variable ]

b=11 e-n =f e=36 n=9

k= h =

a-b =c a=108 b=11 g-n =f e=125 n=22
== — L =f

=t f=

r-y =k r=138 y=31 t-g =h t=164 g-=43

Ik = h=




1) 65-n=3 2) n-25=4 3) s-32=2
n= n= 5=
5) 91-p=7 6) 121 -r=105
p: r=
n-35=115%5 9) t-4.4=15
[ =
10) 227 -n=20.1 12) 346-6=p

n=

13) 47.6-n=44.4
n —

16) 755 -s="T1.4
g =

17) 884 -23=5
G .

Word Problems

1)

2)

Solve the gquestions below

Zara has 1.5 birthday cakes leftover from her party. She eats some

the next morning and now there is only 0.9 of the cake left. How much did she eat?

Randy works for 7.5 hours today. He only has 2 hours left to work. How much time

has elapsed?
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Alice works at a bakery. Her job is to provide change (c) to customers when they pay
for their baked goods (g). She must subtract their order from their payment (p).

c=2390-32

m Write the equation and find the answer ] f{?}/ 4 /
| —
# Payment Baked Goods Equation Answer
r_" = =
1 32 -4 c=18

& 150 94
7 200 118
8 150 137
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Questions Answer the questions below ]

1) Harry bought 24 donuts. Him and a friend ate 9 of them. Which equation will tell us
how many donuts there are left?

d-9=24 24-9=d
d-24=9 26 -d=9

on challenge. She needs to run 42km in 5 days. It is the

B-r=42
I r - E = -'fl-z
-,
3) Tom collected 142 shells C ; e to his sister. Now he has 94

nave to his sister?

af

142 - 94 =5
5 - 94 =142

4) Courtney saved 125 dollars to buy new shoes. She no
eqguation tells us how much the shoes cost?

ot s - 45 = 125 125 - 45 =
e 45 + 5 =125 125 - s = 45

5) The movie is 118 minutes long. They have watched 31 minutes. Which equation
tells us how many minutes are left?

m-31=118 118 -31=m
31+m-=118 31-m=118
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Luestions

Write the equation using the variable and then solve the equation ]

1) Sofia started the weekend with $421 in her bank account. She went shopping (s) at
the mall and now has $76. How much did she spend at the mall?

ﬁ‘._ —
sgg? | S
...i.._-:-*l-'
2) Ch m race. She has run 2931m already. How many metres
does race?

3) Michael is driving to an a

ark is 373km away. He will
need to stop for gas at the 350km m '
stops?

4) Jacob is climbing Mount Everest to Base Camp. It is 5,48
break with 1,650m left. How many metres has he climbed (c) a

) Willow is driving to her cottage in northern Alberta. The total distance is B01km.
She has driven 427km already. How much more distance (d) does she need to drive?
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m Solve the problems below. The first one is done for you |

1) Ron is driving 1,350km (x) to a resort with his family. They drive 415km on the first
(f) day and 4B0km on the second (s) day. How many km do they have left (L)?

Equation:L=x-f-s or _f-c=
L =1350 - - 480

Therefore, BEon and his family have £55km remaining to drive,

P

(b) $400 on dinner out for 3 nights. They spent $95 on the

first the second (s) dinner. How much do they have left for the

third

Equation : -
Y7

1 §
i

o

3) The family heads to the wa
(a) cost $48 each. The two kids (k) c

200 in total (t). The two adults
do they have left (L)?

F

Equation :

Therefore,

4) The family buys a 50 pack of gummies (g). Ron (r) has é and
The kids (k) eat 26 together. How many gummies are left (L)?

Equation :

Therefore,

5) On the drive home, they take a short cut. The drive is 981km (d). They drive 311km
the first day (f) and 511km the second (s) day. How many km do they have left (L)?

Equation :

Therefore,
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6 x 3+ 16

are not equal

I3x8 = 24

Are the equations equal? Put a slash through the equal sign for any equations that

7 x 649

Questions

Put a slash through the equal sign # if it is not balanced

7) 10x3 =30

2)5x4=25

3)8x3=21

6) Tx4=21

9)9x 4 =238

10) 9 x 10 = 90 11)2x7=16

13) 6 x 4 =24 14) 6 x 6 = 42 15)

16) 6 x 7 = 42 17) 4 x 9 = 36 18) 3 x 10 = 30
19) 8 x 7 =57 20)7 x7 =49 21)8 x4 =31
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Balancing equations means both sides of the equal sign must be the same.

" Examples 5
8x3=|24 T x| & |= 42

Questions Fill in the missing number to balance the equation ]

109 %4 = 11Y 7%
13) 3 x =33 14)10x 9 =
16) 8 x = 48 17)20x 3 = 18) 4 x = 44

19) 12 x =48 |20)1l4x 4= 21) 11 x =110
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When we multiply a number by a variable, we do not need to use the multiplication
sign. It is known that any variable next to a number means the operation we are using

is multiplication.

Example: Tn =14 means 7 xn =14
We can figure out the unknown number by balancing the equation -n= 2.

s 4

Find out the value of the variable ]
2) nx8=16 3) sxb6=48
n= e =
6) 6k=18
= k:

7) 3n=18 9) nxb6=66
n= n =
10) 5n=25
ns=
13) 3n=24
n=
16) 9s=27
5= S = b=

Calculate the area using the variables for Length and Width

The formula for calculating areais; A=L xW

Calculate the area in the questions below using the values for the variables L and W

L=3 W=8 = L=4& W=12 =
L=% W=1 = L=8 W=5 =
L=6 W=11 = =3 W=13 =




Liam believes you can find the area of a rectangle in two different ways. Can you
write the two equations you could use to solve the area of a rectangle?

Opti io
Remember - a = L x w o -a-F':-lfTﬂ-Eé- gj:itJﬂ. ;1;2
Tem a=21lcm’ a=2lcm®
Questio Write two equations that represent the area of a rectangle ]

Equation 1 Equation 2

i bcm 12cm
8 8km 11km
Q hem Qcm

10 Tm &m
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Amelia is selling lottery tickets for $15 a ticket. She needs to calculate how
much meney her customers owe her for her tickets.

Use multiplication equations to fill in the table l

Equation 1 Equation 2
txl1o=7 1o xt=7

# of Tickets (t)

Amelia sells tickets to two different people

# | # of Tickets Person 1 | # of Tickets Person 2

1 5 3 (5 x 15) + (3 x 15) = 120
z 4 T

3 9 2

A 2 5

5 b b




3)

10)

15n=3 nx2b=5 sxZ22=846
n = n= S =
) i P 5) 5.3p=15.9 6) 12.1r = 48.4
]" —|
9
17.5 ) tx 4.4 =22

6.Tn=20.1
n —
13) 7.6n =38
16) 7.55 =45 2
g = g =

Word Problems

1) Rylan has grown 32.5cm since she was born. She grew 6.5cm each year.

Solve the questions below

How many years has she been alive?

2) It rained 3.3mm every hour. In total, it rained 26.4mm. How many hours did it rain?




Questions Answer the guestions below J

1) Tim owns an apple tree farm. His staff brings him 10 baskets of apples that all
have the same number of apples in it. There are 120 apples in the 10 baskets. Whrch
equation tells us how many apples (a) are in each basket?

ax10=120 10x 120 =a
ax120=10 10xa=120

; cookies in it. Ryan needs 132 cookies for his school. Which
equa ! pany boxes (b) he needs?

12 x b =132
bx 12 =132

3) Each child at a party gets ade. There are 9 children.

Which equation will tell us how

9x13=t
tx9=13

4) John cuts 10 equal sized logs into equal pieces. He no
How many pieces (p) were in each log?

p x 10 = 140 140x 10=p
10 x p= 140 140 x p=10

5) Nicole buys B cases of pop. She now has 96 cans of pop. Which equation tells us
how many cans of pop (p) are in each case?

px8=96 6x8=p
8xp=96 Bx%% =p
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Questions J

1) The Mighty Bears play 3 games (g) a week for 7 weeks (w). How many games in
total did they play (p)? o &

Equation: p=gxw or gxXw=p
p=3x7 r

(a) from each tree at an apple orchard, He picked 72 apples
(t) did he pick apples from?

Equation™

3) Kai puts 8 small chlorin
(t) chlorine pucks last summer.
last summer?

week. He went through 96 total
il he have the pool running

Equation :

Therefore,

4) Isaiah invests (i) 225 each week for 10 weeks (w). How
have invested after 10 weeks?

Equation :

Therefore,

5) lvy paid (p) $525 for her lawn to be cut for the summer. She was charged %25 per
time (t). How many times was her lawn cut (c)? "

Equation :

Therefore,
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8+2+5

Are the equations equal? Put a slash through the equal sign for any equations that

are not equal

9+3 =3

156 +3 %3

Put a slash through the equal sign if it is not balanced ]

2)25+5=4 3)32+4=8
4) 36+ 6= 9 6)28 + 4=8
7)50+5=10 9)36+4=8
10) 99 + 11 =10 11)35+7=5
13) 24+ 4=8 14) 49 + T =6 15) 43+ 9=5
16) 72 - 8=8 17)81+9=9 18) 36 +3=12
19)56 +7=9 20) 48 -+ 12 =3 21)63+9=17
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Balancing equations means both sides of the equal sign must be the same.

i Examples

s

&
7 ran

25+ 5=[5 18 = [3]=6

Questions Fill in the missing number to balance the equation |

13) 24 = = 3 14)99 =9 =

16) 48 = =6 [(17)20=+ 4= 18) 48 = =12

19) 49 - =7 |20)36+ 3= 21)72 + 6=
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A variable is a letter that represents an unknown number. When we don't know a
number, we can use a letter to take the place of the unknown number,

Example: 27+n=3 ‘

We can figure out the unknown number by balancing the equation-n = 9.

Find out the value of the variable

2)

n«9=3

3)

16)

Part 2

Calculate the area using the variables Length and Width ]

Servers at a restaurant share tips (t) equally at the end of the day. The number of
people that share the tips depends on how many servers (s) were working. We can use

a formula to find out how much money {m) each server takes home: m=t+ s

t=150 s=5 | m=150+5 m = 30 t=120 s=3 | m= - m=
t=180 s=3 [ m= + m= t=210 s=7 [m= * m =
t=280 s=5 | m= + m = t=320s=4 | m= = m =




Riley is the best boss! Every week, she brings in treats for her staff to
share. Each week, there are different treats and a different number of

staff members working at the office.

# eat # of Staff (s) Formula Answer
1 B d+s=t l6+8=2
2 C+5=t

3

4 | 16 slices of pizza (

5 10 bagels (b)

b 15 donuts (d)

7 24 cookies (c)

B 18 muffins (m)

g 28 pastries (p) 4

10 32 cookies (c) B

11 | 36 slices of pizza (p) 9

12 24 bagels (b) 3

13 25 muffins (m) 5
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There are some instances where we know the values of variables
and need to plug them into an equation.

For example: a+b=c a=235 b=5
35:5=c
c=17

Find out the value of the variable
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Questions Answer the questions below ]

1) Neil has 180 crayons that he wants to split into equal groups of 20. Which equation
shows how many groups (g) of 20 he will have?

g+ 180 =20 180+ 20=g
g+ 20 = 180 180 + g = 20

25+ twm?
, |
t+25=2 &

pnts. Which equation shows how
many blocks (b) each student cah ha

300 +15=D
b +300=15

&) Mrs. Wilson brought in 90 candies for her students. SheWe
equation shows how many candies (c) each student will get?

c+90=230 0 +-30=c
90 +c =130 30 +c=90

5) Mr. Rogers is donating $1000 to different charities. He gives $200 to the charities
of his choice. Which equation shows how many charities (c) he donated to?

c + 1000 =200 1000 =200 =c
200 = c = 1000 1000 = c = 200

¥ Super Simple Shests supBFsimpleshaets com
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Questions Solve the problems below. The first one is done for you ]

1) Jonathon has 1000 potatoes (p) from his farm. He wants to sell them in bags (b) of
20. How many bags will he have in total (t)?

Equation:t=p+b . .
t = 1000 ; b

inutes (m) will he teach each subject? ‘: 'ﬂ
'
L4

J

Equation :

tal of 117 EDDIHE'S ) for his
d get (g

3) Jayden is inviting 9 friend®
friends to share evenly. How maMy cg

Equation :

Therefore,

&) Matthew has 228 toys (t) stored in 12 different boxes
are in each box?

Equation :

Therefore,

5) A group of friends go on a trip together. They all agree they will equally split up
the driving duties. The total (t) distance is 1950km. Each friend drove (d) 325km. How
many friends (f) went on the trip?

Equation :

Therefore,
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When we add or subtract the same amount from both sides of an equal sign, the
equation does not change. Investigate this theory below.

Questions Draw circles to represent the equations ]
# Original Equation Change New Equation
E + 3 = + 3
@ *e I L X
L X
1 o *
2
3
4 Subtract 5
+ 4n = 15
5 Add 7
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Write four egquivalent forms of the equations below

# Original Equation

1 4n =20

o each side

ach side

Add B to each side

Subtract 13 from each side

Multiply each side by 3

Divide each side by &

i Original Equation

3 on -5 =25

Add 50 to each side

Subtract 20 from each side

Multiply each side by 4

Divide each side by 5
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When we change an equation by adding, subtracting, multiplying, and dividing the
same amount from both sides, does the equation change? Investigate below!

Questions Fill in the table below
# Original Equation Change New Equation
1 sl Add 10 to each side e -
2 Add 7 to each side
3
4
5 Divide each side

n —
5 92 -n=34 Subtract 15 from

P each side

68 + n=85 :

7 Add 13 to each side

n=
o 5n = 50 Multiply each side by

4
n =
dn =27

9 " Divide each side by 3

ns=




Question

Follow the instructions below ]

Josh wrote an equivalent form of the equation. Explain what he did to preserve the
equality and write your own equation using the preservation of equality.

Equation

1) 5b = 20

Equation

Equation

Josh's
Equivalent
Equation

2b-5-10=15~-

Your
Equation

Equation

Josh's
Equivalent
Equation

(b+r-5x2=10%2

Your
Equation

Eqguation

)25 -rx3=10

Josh's
Equivalent
Equation

(25 -r=x3)+2=10+72

Your
Equation
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Find out the value of the variable

?+n=15

124 + 15 = y
1.|'1I=

76 -y = 61

X =4 + =1

c= t=

a-b=c a=108 b=11 e-n =f e=125 n=22
- -C -

C= f=




Solve the word problems below

1) Jacob picked 15 apples (a) from each row of apple trees. He picked 75 apples in
total (t). How many apples did he pick in each row (r)?

Equation :

Therefore,

2) They de to budget (b) $400 on dinner out for 4 nights. They spent $90 on the
8 on the second (s) dinner and $85 on the third (t) dinner, How
much do for the fourth dinner (f)?

3) A family of & (f)
many donuts were ther

family member gets 4 donuts (d). How

Equation :

Therefore,

4) Hailey spent $475 total (t) at a sporting goo kates (s) for
$275. new gloves (g) for $130, and a new stick for much is
s worth?

Equation :

Therefore,

Use two different equations to find the area using the given measurements

Length Width Equation 1 Equation 2

Tem gcm

#
1 10m Tm
2
3

Pkm hkm
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Evaluate the following expressions for x = & |

1) x+11-3

2) 4+ 3x

3) 40 - 2x

4) 6+12 +x

5) 4x - (5 +5)

6) x+3xb

ered the questions below. Circle who's right

= Answer | Savanna's Answer

1
2
3 y+3x3

y=4
4 y+1l6+2 12 10

y=8
5 y-4x2 0 8




Grade 6

Measurement and Geometry

Curriculum Expectations Pages
Students will be expected to demonstrate an understanding of
angles by
» identifying examples of angles in the environment
MO1 » classifying angles according to their measure 5 _ 30
« estimating the measure of angles using 45°, 0%, and 180° as B
reference angles
» determining angle measures in degrees
« drawing and labelling angles when the measure is specified
M " ‘ [
Preview of 90 pages from this
| product that contains 245 pages |
STUTUENTS WL D8 eXpECTel 10 TONSIrUCT ana TOMPare riangles, 11 - 35
GO01 | including scalene, isosceles, equilateral, right, obtuse, or acute 37 _ SHI
in different orientations.
Students will be expected to perform a combination of 79 _ 16
translation(s), rotation(s), and/or reflection(s) on a single 2-D :
GO03 . . . 78 - 80,
shape, with and without technology, and draw and describe the 83 - 87 90
image. R
Students will be expected to perform a combination of
GD4 | successive transformations of 2-D shapes to create a design 91 - 95
and identify and describe the transformations.
Students will be expected to identify and plot points in the first
GO5 | quadrant of a Cartesian plane using whole number ordered 96 - 103
pairs.
Students will be expected to perform and describe single 16 =71,
GOD6 | transformations of a 2-D shape in the first quadrant of a 81 - B2,
Cartesian plane {limited to whole number vertices). EH - 89




MName:

Curricelem Connacticn
M1

Obtuse
Larger than right angle

‘ right

smaller than right

(= Reflex
/ Larger than 1BO7

Questions

Label the angles acute, right, obtuse. or reflex

J

4)

14)
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Sort the angles into the categories below ]

O
G

DAQ

Obtuse

Acute

A

Angles

Right Angle

Obtuse

Letters

Circle the angles below

Drawings

Angles

Right Angle

Obtuse

Acute
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Right Angle
- 9p°

Acute Angle
- smaller than 90°

Obtuse Angle
- larger than 90"

Straight Angle

- 180°

Reflex Angle
- larger than 1B0"

p-

f\

Label the angle - straight, acute, obtuse, right, or reflex ]

|~
=

3)

Ty

4)

A

£
_
/c/

14)

15)

16)
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GQuestions

Label the angle - acute, obtuse, right, or reflex ]

1)

right ag

5)

2)

3)

4)

acute obtuse reflex

right acute obtuse reflex

right acute obtuse reflex

right acute obtuse reflex

right acute obtuse

7

8)

N

9

p—

10)

é

right acute obtuse reflex

right acute obtuse reflex

right acute obtuse reflex

right acute obtuse reflex

right acute obtuse reflex

13)

14)

15)

16)

right acute abtuse reflex

right acute obtusa reflex

nght acute abtuse reflex

right acute obtuse reflex




AT G s Cinins il i

10 T
les - Right, Obtuse, Acute, and Reflex
Right Angle Acute Angle Obtuse Angle Straight Angle Reflex Angle
- 90° - smaller than 90° | - larger than 20" - 180" - larger than 180"
Draw acute, obtuse, right, and reflex angles below ]
1) 3) 4)
Acute Reflex
5) 6)
Reflex Obtuse traight
9) 10) 11) 12)
Right Acute Obtuse Reflex
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1} w0 1og , y 2} . I-'J' tog 5
o g e . @ " .
1'%' ; 3 f.h :
% # %
% 5 t
3 - — - i
Angle = Angle = Type of Angle =

Angle = Type of Angle = Angle = Type of Angle =
7) N . wul Moy A S
‘I'-"g L 2 ] 4
: Y i .
: 15",“ % A ;,-.arh? %
# % 2 %
e % %
2 | i *
Angle = Type of Angle = Angle = Type of Angle =
|
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(Questions

Measure the angles and label them acute. right, or obtuse ]

1) 2) 3) 4)

5 | 7) 8)

9) 10) 11
T\

13) 14) 15)




Circle which angle you think it is. Do not use a protractor. |

2)

3)

/

a) £= 95° a) £= 168°
b} £=100° b) £=50°
c) £= 80° c) 2= 120°

d) 2= 12°

d) 2= 120°

4)
a) 2= T4° a) 2= ¥ . EE
b) 2= 170° b) £= 30° >
c) 2= 30° c) 2= 143°
d) 2= 106° d) £=170°

7) 8) 9)

__——-'--

a) &= 95¢° a) £= 60° a) z=171°
b) 2= 54° b) 2= 120° h) £=9°
¢} £=110° c)} 2= 10° c) £= 50°
d) 2= 160° d) £= 160° d) £= 85°




Construct the angles and label them acute, right or obtuse ]

Angle = 2= 42° Type of Angle =

1} i 1Il. tl:l : "‘a 'I-Iﬁ ‘I- e 2} A 70 “ I"? I-IS- ‘I-
e " 4 N Pay
y w » %
% 2 %
% 2 %
2 5 -
= Angle = £= 1107 Type of Angle =
4) LT
3 i,
i & f‘ﬁ. -
%
] L
.

e of Angle =

5} : “":_D . Aoy il"';._i.h' :
<37 %,
e T
H %
5 B
. . i
Angle = £= 124° Type of Angle = Angle = £= 168" Type of Angle =
T} iy g ;‘. ﬂ I 1og ,zlj; iy 8) ey A -;.u- o 1ag i.;,,:
W Yo, S %
¥ -, ..-- i - i
g & 2 s
: ; . ;

Angle = £= 49" Type of Angle =

Angle = £= 173° Type of Angle =
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Use a protractor to draw the angles below using the line provided

2)

3)

£=60°

L= 25°

L= 1707
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45° |

90°

140° }

e

Use your knowledge of obtuse, acute, and right angles to help you estimate the angle
measurements below. You can also use these angles to assist you with your estimations.

130ﬂ]

|

angles below using the line provided without a protractor ]

Draw the angles below

1)

2)

2= 80"

2="70"

£=165°

4)

5)

£=120°

£= 30°

2= 140°




e i

01

Measure the angles below using the circular protractor

)

Angle =

Type of Angle = Angle = Type of Angle =

L Siper Simple Sheets
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We can measure reflex angles that are larger than 180° by using a circular
protractor or a semi-circular protractor.

When using a semi-protractor, you can use one of two strategies:

1) Measure the angle starting with 180° and add 180°
2] Measure the remaining angle from 0° and subtract 3560°

Solution

i
T
it

\'x\;. 5 & Strategy 1
Wi & 180 + 100 = 280

Strategy 2
360 - 80 =280

Relow

ﬂil
L

|
ol

T4 180
i
A
b
e
- _-'-_;I
Far
.-'"IrJ"I I
o6 |
oz
Fermai i
i
'I. 5
&?ﬁ P g
G Qi
1y, I|||||||||

B
B AR
':"".tl'"“'\-h

o

ang,l || 1S we o
— (% | SR B, -
T Vo
'I:I:""""'lllll'l'l'll.|Iil||"|!."l'.'-"."""I v 111

1) Angle Size = 2) Angle Size =

L]

~ .l\. .'. [ 1 .. 5

G, 0 [ [ e i

W L i
G~ oy | wnWn o

e

%ﬂ 24 poy %% e e R TR e
O A

4) Angle Size =

3) Angle Size =




AT G s Cinins il i

2]‘ Illf"'xl 3]
a) £= 95¢° a) £=171°
b} £=100° b) £=9°
c) 2= 225° ¢) 2= 50°
) £= 290° d) 2= 85°

a) 2= 168°

b) £=50° b} £=120

c) 2= 120° ¢) 2= 10°

d) «=10° d) £=1460°

T) 8) o 9)
L%
el r/

a) 2= 50¢° a) £=T75¢ a) £= 40°

b) #= 160° b) 2= 190° b) 2= 30°

c) £= 20° c) £= 255° ¢) £= 140°

d) 2= 100° d) £= 355° d) 2= 170°
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Questions Measure the angles below |

1) 2) 3) 4)

( /\

e

13) 14) .~ |19 16)
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Measure the angles and label the quadrilaterals: Kite, Trapezoid, Parallelogram ]

4)

L A= LA= LA= £A=
£B= £B= £B= #B=
£C= £C= £C= ZC=

£0= £0= £0= £0=




01

27
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the angles below

Construct

Angle = 195°

Angle = 262°

o
om0t Y

:ll._.___._.-____.ﬁ___._..

Angle = 347

i

! Siper simphe



2)

3)

1)

£=275°

£= 350"

gles below ]

£=287°

4)

L= 2487

£=318°

L= 264°
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Use your knowledge of obtuse, acute, right, and reflex angles to help you estimate the angle
measurements below. You can also use these angles to assist you with your estimations.

1)

Right Angle Acute Angle Obtuse Angle Straight Angle Reflex Angle
g0° 45° 140° 180~ 2507

les below using the line provided ]

£= 220°

m Draw the angles below
1) 2) 3)
£=30° £=110° £Z= 280° £= 350°
5) 6) 7) 8)
/= 210° = 3107 £= 60° £=130°
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Acute Triangle - All angles are acute W

Obtuse Triangle - Une angle is obtuse

Right Triangle - One right angle

Questions ]

Obtuse Triangle

5) 6)
A
B E =
B L:
LA= £A= A= LAs
LB= £B= ZB= £B=
£C= 2C= £C= £C=
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Acute Triangle

Right Triangle

Obtuse Triangle

L

All Angles Are Less Than 90°

1 Angle |5 90"

1 Angle Is Greater Than 90"

Part 1 I 2| the triangles acute, obtuse or right

Draw a picture of the three different types of triangle

10)

11)

Acute Triangle

Obtuse Triangle

Right Triangle
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Typas of Tricnglas

Equilateral Triangle

Isosceles Triangle

Scalene Triangle

FAN

3 Equal Sides
3 Equgl Angles

2 Equal Sides
2 Equal Angles

Mo Equal Sides
MNo Equal Angles

Label the triangles equilateral, isosceles, or scalene

Draw a picture of the three different types of tri

9)

10)

11)

Equilateral Triangle

Isosceles Triangle

Scalene Triangle
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MName: 35 GOt

Equilateral Triangle - All sides lengths are equal (bR

Isosceles Triangle - Two side lengths are eqgual

Scalene Triangle - All three side lengths are different

o

Questions easure the angles and label the triangles equilateral, isosceles, or scalene

LA

[
I
=

1}
I
[
=
n

£B= £B= £B= £B=
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Interior angles are the angles inside a shape. The interior angles of a triangle will
always equal 180°. We can use this information to solve for unknown angle

measurements.

all angles are the

same. Therefore,
all angles = 60°

ADme &) + 40 = 160

Two angles are the
same, Therefore,

angle A = 507

B + &5 « A = 180
A =507

All angles are
different, Therefore,
angle A = 55°

G0 + 75 + & = 1BO
A = 55°

Isosceles Triangle

Scalene Triangle

r

g values of the unknown angle measurements ]

f

A= A- R

10 - 11) 1 e
i

A= A= A
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1)

2)

3

4)

3)

6)

An isosceles triangle has two different angle measurements. Angle AB and AC
are both 75°, What is the angle measurement of BC?

A scal riangle has angles of 66° and 72°. What is the third angle?

Liam cuts s. He cuts B slices into equal sizes. The slices
are isoscele of 52¢ What is the third angle

measurement?

Can an equilateral triangle have an angl why or why not.

a) If two angles in a triangle equal 141°, what is the value

b) Assuming all three angles are whole numbers, what type of triangle is it?

Sammy folds a paper into a right triangle for a paper airplane. One of the angiea
is 507, What are the other two angles?
-

ﬁ-&&

L "




MName:

CurTipiutisn Cnnact icn
Wz

Interior angles are the angles inside a shape. The interior angles of a quadrilateral
will always equal 360°. We can use this information to solve for unknown angle

measurements.

A rectangle has & equal
angles that are 20°,

The trapezoid has 2
pairs of equal angles.

£+ __+__ =380 75+ 75+ 105+ 8= 360
: 90 + 90 + 90 + 90 = 360 B = 105
- r
f e values of the unknown angle measurements J
E ]
1) § [ 107° 73° 3) B T
&
BO" BO° &» t‘ = ] A°
r
A= . A =
_A—
AR v 5) y
1254
A= A =
7 8
] Sq‘ ::lﬁ:' ] 1]]:
1230 A 4
A = A = A =
1{]] At 127 104° 12&*\
53° 74 g

A= A= A=




MName:

CurTipiutisn Cnnact icn
Wz

Find the values of the unknown angle measurements J
3} = 7%
g P i
6)
9)
73° —
113
10) 11) 12
135
d == = = £2¢
13) 14)
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= Angle = Type of Angle =
gles and label them acute, right. or obtuse

2)

Use a protractor to draw the angles below using the line provided J
1)

3)

£= 60°

£= 98°

£= 147°




42

Use a protractor to draw the angles below ]

1)

2)

3)

L= 530

L= 1439°

the angles and label the triangles Acute, Obtuse, or Right




Z2) Perimeters=

4) Perimeter=

3) Perimeters=

&) Perimeters=

1) Perimeters=

2) Perimeters=

3} Perimeter=

V.

4) Perimeters=

5) Perimeter=

&) Perimeter=
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Formula 1
a+b+a+hb

9+3+9+3=24cm

fcm

acm

Mathematicians use formulas to help them solve questions faster and easier. When
finding the perimeter of a quadrilateral, we can use the following formulas.

Formula 2
a+bx?2
?+3x2=24cm

se both formulas to calculate the perimeter of the quadrilaterals

Formula 1

Formula 2

22mm

5)

17cm

4cm
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Step 1 - Convert the units so they are all the same
Step 2 - Use a formula to calculate the perimeter

1)

30mm

2)

lem

10mm

10

lem

Bem

Jem

Part 2 Find the perimeter of the equilateral t
1) 2) 3)
30mm 30mm
a0mm 80mm

4cm
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1) A computer screen is ?1cm by 42cm. What is the perimeter of the

screen?

around his yard. His yard is 67m by 49m. What is

h
“

2) P =
the p er .

3) The school yard is a rec le 26m. What is the

perimeter of the yard?

4) A piece of paper is 153mm by 104mm. What is the pe
paper?

5) Mrs. Wilson is putting a border around her bulletin board. The board is
210cm by 1.32m. What is the perimeter of the bulletin board?




Questions Draw a picture of the problem and then find the perimeter J

1) Henry built a fence using stones in his yard. The fence was shaped like
a regular pentagon. The regular pentagon had side lengths of 13m. What
is the perimeter of the shape?

SERLIdT.

2) Detective Carte
irregular shape had &
16m, 35m, 12m, and 47m.

e in an irregular shape. The
measurements: 9m, Z28m,
the perimeter?

3) Jayden ran a perimeter around his neighbourhood. The p eter he
ran around was a regular hexagon. Each side was 415m long. What is the
distance Jayden ran?
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LQuestions s it possible for a shape to have the same area and a different perimeter?
1) am 2) 10m 3)
20m
im | 2m im
Peri Perimeter; Perimeter; m
Area Area: m*
4) 6)
Perimeter: cm Perimeter:
Area: cm? Area:
7) 8)
e 20m
6m 4m 3m
Perimeter: m Perimeter: m Perimeter: m
Area: m* Area: m? Area: m?*
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ML Does a larger perimeter mean a larger area? Answer the questions below

1} School Garden: A school wants to create two rectangular gardens with different
dimensions. Garden A measures 15 meters by 5 meters, while Garden B measures
10 meters by 7 meters.

a) What i grimeter of garden A?

a) What is the perimeter of playground

a) What is the perimeter of playground ¥?

c) Which playground has a larger area to play in?

3) Classroom Carpets: A school needs to buy carpets for two rectangular
classrooms with different dimensions. Classroom 1 measures 12 meters by 4
meters, and Classroom 2 measures 9 meters by 6 meters.

a) What is the perimeter of classroom 1?7

a) What is the perimeter of classroom 27

c) Which classroom will need the larger carpet?
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In Canada, we use the metric system. The metric system has 4 main units that we use to measure

distances. J’
BENCHMARKS QP
Millimetre (mm) Centimetre (cm) Metre (m) Kilometre (km)
19mm = 1.5cm 150cm = 1.5m 1.5m = 150cm 2.3km = 2300m
1500mm = 1.5m lem = 10mm 1500m = 1.5km

in the tables below ]

850

25

950

Convert the units of measurement below

J

1) 1.1m __cm b) B.12m cm 9) 831cm . m
2) &2mm | em 6) 515mm em 10) 75mm | _  cm
3) 3.7em  mm 7) 426mm cm 11) 6.89m ____cm
4) 93cm | mm 8 75cm | mm 12) 562cm | m
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We can use the ladder method to convert any metric unit of measurement to another simply
by following the rules below,

Ladder Method
Kilo To convert to a smaller unit, move the
decimal point to the right (multiply)
1000
Units Hacto >
units
Deka
10 units | Basic Unit
Metres
Litras
Grams Deci
0.1 Unit —
Toconverttoal I I]ll."l-jnil
the decimal point to t - Milli
& 0.001 unit
Instructions
1. Find your starting unit of measuremen EXAMPLE
mirm

2. Count the jumps to get to your ending unit
3. Move the decimal the number of jumps up or
Moving Up = Left and Moving Down = Right

Convert the units of measurement below

1) 28m mm 5) 7.4km m 11518m | __ km
2) 4£18mm cm &) 807Tm km 10)7921mm m
3) 278cm mm 7) 3045m cm 11) 952m mim

&) 2775m km 8) 5237cm mm 12} 1Zcm mm
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Fut the lengths in order from shortest to longest ]
} 10.5m 200.2cm 10.5mm 0.14km
1
Bem 33B0mm 0.05km 300m
2)
525cm 5.5m 0.5km
3)
883cm 8000mm 0.8km
&)
Read the problems and b
1. Fred and Norm both walk to school. Fre 1:3 rm walks 1753m,
Who walks further to school? y
4
2. Nick and Ryan both competed in long jump at the track meet. Ni ped 3.45m
and Ryan jumped 32%9cm. Who jumped further? [ o8

hp
-

3. Four friends measure the length of their feet. The results are; Cole (19cm),
Ashton (0.22m), Ryker (210mm), and Xander (0.000205km). Rank the friend's feet
in order from lengest to shortest.
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When we calculate the area of a shape, we can use the following

formula

A = base (b) x height (h)

height

hed unjtj

A=law
APyl
A = 4 units®




Mame;

We can draw lines on shapes to segment them into cm

squares. Try your best to make the squares equal.

3)

2cm

Draw Lines in the shapes below to create cm squares. Then count the squares

socm

2)

5)

Area =

adcm

dem

bdcm

Area =
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CRirricid i o nes e

m Find the area (A= b x h) ] *Not to Scale

1)

2)

4m

12cm

Area =

Area =

9)

dcm

12cm

Area =

10)

becm

1lcm

Area =
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Questions Draw a picture of the problem and then find the area

1) A phone is 11cm by 60mm. What is the area of the phone?

2) A m. What is the area of the pool?

4) A candy wrapper is 40m
wrapper in cm?

4) The front of a square box is 12cm wide. What is the a
the box?

5) A door is 3m by 150cm. What is the area of the door?




MName:

vl i Connectio
ME3

Questions

Find the missing value (A=b x h)

1)

2)

1lcm

Height = Height =
Bem Area = Area =

7) 10)
A=TTcm’ e Jem | AsBscm’ Base =
Height = Height =
Area = Area =




QQuestions

1) A piece of paper has an area of 63cm®. The base of the paper is 7Tcm. What is the
height of the paper?

2) Hu
leng

ar quadrilateral. It has an area of 81m®. What are the side

3) A bus has an area of 24m’. . What is the base?

4) A poster shaped like an irregular quadrilateral has a baS®
126cm?®. What is the height of the poster?

5) A cookie sheet has an area of 104cm® The base of the sheet is Bcm. What is the
height of the cookie sheet?
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Rectangular Prism - Calculating Volume

To find the volume of a rectangular hem v=lxwxh
prism, multiply the length by the width v = 5cm x 2cm X dom
by the height. Sem Zcm v = 40cm?

Label the rectangular prisms and then calculate the volume

R A ‘
LX)




Rectangular Prism - Calculating Volume

To find the volume of a
rectangular prism, multiply the
length by the width by the height,

4cm

&em

2cm

v=lxwxh

v =bcm x 2cm x 4cm
v = 48em?

Questior

Calculate the volume of the rectangular prisms

Bcm lm
4m
2cm &M
bom
9) 10)
3m
dm
oM 4m
Bm

Bm
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Calculate the v

Box Type Length Width Height Volume

Box 1 Fcm 6cm Zcm
Box Tcm becm 10cm

8cm 3cm

9cm 3cm
Box 5 gcm 6cm
Box &6 gcm
Box 7 hem

1)
Bm
Im
am
3) 4)
Kk Icm
&m 1lem
2m Scm
5) ﬁ} dcm
fecm
Zem
GCm
10cm Tcm




Questions Solve the word problems below ]

1) A classroom has a width of 12m, height of Z2m, and a length of 10m. What
is the volume of the classroom?

-E

2m deep, and 4m long. What is the valume of the

&

3) A block has a height of
the volume of the block?

length of 10cm. What is

4) A pool is 9m long, 6m wide, and 3m deep. What is
pool?

5) A lunchbox is 12cm wide, 7cm tall, and 10cm deep. What is the volume of
the lunchbox?

H Super Jmpie aheels



MEa

&8
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Fill in the blanks to investigate the area of the base and the height

(K]
=
]
LA
aj
(]

2)

8)

Volume

Height

Area of Base

1)

7)

Volume

Height

Area of Base




Fill in the blanks to investigate the area of the base and the height

Area of Base Height Volume

10 cm? 80 cm?

2

13 mm & mm

75 cm?

96 mm-

144 mm?

132 km*

210 m?

Answer the guestions

A box of cereal has a base with a length o
9cm. The height of the box is 22cm. What is th

1) box?
A juice box is 9cm wide and 5em long. The height of the juice box is [
1Z2cm. What is the volume of the juice box?

2)

E)

A railway car is 6.0m long and 2.2m wide. The railway car is 3.1m tall. What
15 the volume of the railway car?
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Use a formula to find the perimeter and area of the rectangles below ]

Shape

Perimeter

Area

4cm

»

1) Lucas built a wood fence in his yard. The fen
pentagon. The regular pentagon had side lengths ¢

fence?

Answer the Word prg M
r 4
o

&
N

&

2) Detective Roberts taped off a crime scene in an irregular shape, The irregular
shape had 7 sides with the following measurements: 14m, 9m, 27m, 15m, 32m, 12m,
and 47m. What is the distance of the perimeter the detective taped off?




71

Fill in the blanks to investigate the area of the base and the volume ]

2)

Height

3)

4)




T2

Part & Calculate the volume of the rectangular prisms
1) 2)
1
Bem &
hm
Jcm 5
10cm m

)

acm

Jem

em

vl

Zem

Zcm
12em

Answer the word ems

1) A closet has a height of 2m, a lLength of 3m,
of the closet?

1lem

s the volume

2) A block is 9cm wide, 6cm tall, and 11cm long. What is the volume of the block?




Currigid iy Connection
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Questions Draw the new shape after reading the 3 steps ]
A
A
A
13t b1} 3)34,2+,2]
: A
£ 3 L4+, 14 5) 2 §, 4— 3t g
A
A
A
T 41, 2> 34 8) 4t 4+ 5] 9) 34,3+, 21




Tl 1 0

o[

Lot o LT R T N = ¢ T A = LT =

10

10
9
8
7
&
5
4
3
2 A
1
1 2 3 4 5% & T &8 9 10
3) Left 6, up 2
10]
9 A
2
7
&
5
4
3
r
il
1 23 4 5 &6 T &8 9 10
5) Left 3, down &

= P B B WA Sh = D WD

1 2 2 4 5 & 7 8B 8

10

2) Right 5, down 4

=
L ]

[ ™ T ¥ U~ VL ¥ s B T I+ s I G

10

Aj

1 2 3 4 5 6 7 8 8

10

&) Left 2, up 4
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Instructions: Describe the translations below. Shape A is the original shape.

10] 10
9 g
B 8
7 7
B B
5 5
4 4
3 3
2 2
1l 1

|
I"'l—l"

1 2 3 4 53 6 7 8 9 10

'—l
=

N

e T = O = = T

l 2 3 4 5 6 7 & 9 10

1)
e

&

[
=

ok W B ot w1 o W

e |
-
L o e R L L+ I

1 2 3 4 5 6 7 &8 9 10

1 2 3 4 5 6 7 8 8 10

&)
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|s the transformation a reflection? Yes or no? ]

Part 1

1)

Draw the shape across the

6)

8)

1)

4)

7)
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Questions Reflect the shapes across the mirror line ]




CRirricid ik o nes ks
Gdb

Reflect the shapes across the mirror line J

1) 10 Z) 10

ORI W B Wt =] I WD

1 2 3 4 5 6 7 B 9 10

10
",
el
5
2
il
1 2 3 45 6 7 B 9 10 1 2 '3 8 9 10
5} 10 .-‘_-,} 10
9 9
g o 2
T A T
B B
5 5
d— d
3 ! .lﬂt/
z 2
| T 1

12 3 45 6 7 48 9 10 1 2 3 4 5 6 7 8 9 10
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Rotations can either be clockwise or counterclockwise.

A clockwise rotation moves the same way the minute, second, and hour hands
move on a clock.
Closkwizs

A counterclockwise rotation moves the opposite way of a clockwise turn. —\\

We can rotate things a lot or a little. Check out the three turns below.

360" 180° gp°
. 4 E.'.nl.l ter-
rotation rotation rutatmn e
GClackwise iise/Counterclockwise Clockwise, Counterclockwisa
20° rotation o 0° rotation 360° rotation
’ -

Draw how the arffow

1. 2.

Clockwise Counterclockwise Counterclockwise
207 ratation 34607 ratation 20" rotation

I.'.I“ rotation

Describe how the arrow turned on the clock J




Currigid i Connecticn

360° 180° g0° \\
rotation rotation rotation S\

Questions Draw the controller after it has been rotated ]

Clockwise 180° rotation

Clockwise 70

Counterclockwise 360°

rotation

Clockwise 3460° rotation

Counterclockwise 180°

rotation
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Quest Describe the rotations. Shape A is the original shape ]

- - - - - - - " - L] - - - - - -

B gy

?.}... e )
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[
=

T o T T I - T =« I F

=
=

ok W B = 0O LD

1 2 3 4 5 6 7 8 9 10

3) 90° clock-wise rotation

[
=

ok W B ot w1 o W

1 2 3 4 5 6 7 & 9 10

5) 180° rotation

10

== P B B WA~ DO WD

1 2 3 4 5 6 7 8 9 10

2) 90° counter-clockwise rotation

10

—
=}

A/

= Rt o B LA O owd DD WD

1 2 3 4 5 6 7 8 8 10

4) 90° counter-clockwise rotation
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Questions Are the shapes congruent? Which transformation is it? ]
1) 2) 3)
A |
A
A
Congru hi gruent Yes No Congruent Yes No
Type Type
4) 8]
A 1A
AN
A
A
/A
Congruent Yes No Congruent Yes No an 0
Type Type
7) 8) 9)
| 7/\ AN
A o
Congruent Yes No Congruent Yes No Congruent Yes No
Type Type Type
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Questions Complete the following combination of transformations ]

>
A

3) rotate 90° counterclockwise,

1) 180° tio act,
translate u g up 3 reflect
/ A
AN
A

4) 90° clockwise rotation,
translate left 2

5) Translate up 3,
reflect

AN

right 3

B) Reflect,
translate down 3

9] Rotate 90°
counterclockwise and reflect




m Answer the guestions belo

1) Which shape is A?

2) Which transformation was used with shape A?

3) Which shape is B, C, D, and E?

3) Which transformation was used to move shape B to C?

4) Which two transformations were used to move shape C to D?

5) Which transformation was used to move shape D to E?
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Name:; L5

7
4
3
2 €
1
X
L € 3 & 8 0
ERTEEA AW Bl | abel the objects on the grid by using t r axis 1
Symbol Coordinates (x, v) Symbol o (. y)
& (9, 9) ® | )
W | . )
& |l o Ol % | )
® | ) || e ( )
n ( ¥ ] G ( r }
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Questions Write the letters on the grid accor
Letter Coordinates (x, v) Letter

A (25, 55) F (85, 25)

B (65, 45) G (75, 75)

C (65, 80) H (95, 15)

D (25, 70) i (55, 95)

E (30, 55) J (75, 5)
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Plot and connect the dots with the coordinates below

(8,11), | (9,2), (6, 3), (5,8), | (6, 13).
(9, 11), (9, 4), (5, 4), (S, 11),
(9, 8), (8, 3), (5, 2), (6, 13),
(11, 5), (8, 2), (3, 2), (7, 14),
2), | (6,2), (3,5, | (8, 13),
::O.:.
Z DN
13 i / ﬂ \
124
1[}' Q i
91 |
B Y
2 RS
ol m
5 | (o] Q
4 » O —_— O
o o
2 | . . o000 _
I
B 11\V. JI\
=i : +* * & . . 2 & . 2 i +* - +* 4 +*
1 2 3 4 5 6 7 8 9 10 11 12 13 14
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Mame:

Plot and connect the dots with the coordinates below ]

To reveal the mystery picture plot and connect the dots with coordinates:
(10, 13), (2, 11), (3, 8), (3, 10), (6, 8), (10, 13), (3, 10)
and (6, 9), (14, 7), (5, B), (6, 5), (7, 2), (7, 4), (14, 7), (10, 2), (7, 4).

. TN, "SI ]
0o = By D
= 2 5

- N W A 00O N O O
B

2

12 3 4 5 6 7 8 9 1011 1213 14

4
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Polygon Coordinates (x, y) Polygon Coordits®s (x, y)
1 (1,7), (3.7, (3.9, (1,9) 5 (8, 8), (1D, 8), (%, 10)
2 {5, 4), (7, 4), (5, &) b (9. 5), (10, &), (9, 7). (8, &)
3 (2, 1).(3.1). (3, 3). (4, 3) 7 (4. 8), (7. 8), (6, 10), (5, 10}
4 (6, 0). (&, 2). (9.0), (9, 2) B (8, 3). (8, 4), (9. 4), (9. 3)
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Questions Write the coordinates for the vertices of e

Polygon Coordinates (x, y) Polygeon
E 5
2 6
3 7
4 8




Name: 104
Part 1 Describe or perform the translations below ]
A
A\ \
A
10 10
9 9
g2 8 i | |
7 7
6
5
4
3
2
L
1 2 3 4 5 6 7 8 9 10 10
5) Left 4, down 5 Ri

m Reflect the shapes across the mirror line

1) 10 2) 10
g g
8 8
r T
& 6
5 5
4 4
3 A 3
2 2
1 1

A

1 2 3 4 5 6 7 8 9 10 1. 2 3

4 5 66 7 8 92 10




80

70

60

50

40

30

20

10

10

105

Describe or perform the rotations J

[
L=

= kd W B g o~ O W

1 2 3 45 6 7 8 9% 10

| 4) 180° rotation

o answer the gquestions below

Coordinates

2. Write the letters on the grid

a Letter Coordinates

A (30, 10)

B (15, 45)

10 20 30 40 50 &0 70 c (65, 80)
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Follow the instructions below

1) Write the coordinates for each 2) Draw

Polygon coordinates

Polygon Coordinates Polygon
1 5 (7.8),(8.7),(9.8), (8,9
2 b (7,0, (9. 0). (9 2)
3 7 (4, 8), (4, 10), (6, 6), (6, 10)
4 8 (3.0),(4.2),15,0),16,2)
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Questions Answer the ques

1) Which shape is congruent to A?

2) Which shape is congruent to shape C?

t the house above ]

3) Which shapes are congruent to shape N?

4) Which shape is congruent to shape B?

5) Which shape is congruent to shape E?

6) Which shapes are congruent to shape D?

7) Which shape is congruent to shape T?

8) Which shape is congruent to shape L?
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e}

1l
G4

Directions

EEE ST
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~ A tessellation is a tiling pattern in which shapes are
fitted together with no gaps or overlaps. In the example
tessellation, a white and grey chevron are tiled with no
i

gaps and are not overlapping.

Can the shapes below be used by themselves in a tessellation?

7) Yes Mo B) Yes Mo %) Yes Mo

10) Yes Mo 11) Yes Mo 12) Yes Mo
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A regular polygon is a shape that has equal sides and equal angles. There are only 3

regular polygons that can form tessellations by themselves. Other regular polygons
can be used together to form a tessellation.

Will the regular polygon tessellate?

7) Yes Mo B) Yes Mo 7) Mo

Describe the 3 regular polygons that will tessellate ]

Regular Polygon Number of Sides

2)

3)
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MName: 1164 G4

Every guadrilateral can be used to tessellate the plane. This is because a gquadrilateral's
interior angles always add up to 360°. A regular quadrilateral is easy to tessellate, whereas
an irregular quadrilateral is sometimes more challenging to fit together.

Questions Fill in the table below

Describe Transformation - Rotation, Reflection, Translation
From Shape A to Shape D

From Shape A to Shape B

From Shape A to Shape C

Tessellation ptation, Reflection, Translation

From Shape Ato S

Tessellation Describe Transformation - Rotation, Reflection, Translation
From Shape A to Shape D

il

\ A,,Z B \ From Shape A to Shape B
/c\°/
From Shape A to Shape C
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MName:

Questions What type of tessellation are the examples below J

Type of Tessellation

Tessellation Regular, Semi-Regular, Irregular
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When creating a tessellation, we move a "tile” repeatedly to create a pattern. We
can move the tile in 4 different ways - translations, reflections, rotations, and
dilations.

2) Createa om one corner of the square to an adjacent

corner. D ' do not stop halfway.

3) Cut along your pe
designed is called the

4) Translate (slide) the nibble piec
edges together. These two pieces

1. 2.

5) Place your tile on one of the four corners. To avoid having gaps. have the corner
of the paper align with the original square you started with. The first tile you
trace can hang off the edge of the paper.

&) Since this is a translation tessellation, you will translate (slide) the tile so that it
fits together like a puzzle.

7) Continue translating the tile until the page is covered.

8) Colour your tessellation in a pattern
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Mame: 125 i

When creating a tessellation, we move a "tile” repeatedly to create a pattern. We
can move the tile in 4 different ways - translations, reflections, rotations, and
dilations.

&) Place your tile on one of the four corners. To avoid having gaps, have the corner
of the paper align with the original square you started with. The first tile you
trace can hang off the edge of the paper.

7) Reflect (flip) the tile to fit it next to your original tile.

8) Continue reflecting the tile until the page is covered.

%) Colour your tessellation in a pattern
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Directions Follow the instructions to create your own rotational tessellation

When creating a tessellation, we move a “tile” repeatedly to create a pattern. We
can move the tile in 4 different ways - translations, reflections, rotations, and
dilations.
Aro
(turning)

jonal tessellation is a tessellation that has been created by the rotating

1) ith strong paper, like cardboard, cardstock or index cards.

2) Cre a dej pamgil from one corner of the square to an adjacent
corner. T g o re t. such as a bird or other animal. Do not draw
diagonally™ ots p

3) Repeat the step a¥y O R b designs to cut out

»

4) Cut both designs out. Yo fild o5,

5) Rotate the cut-out pieces by tu am tg Bgisont sides - do not flip
them. Tape the edges together making s ¢ ling Qout overlapping.

Sy
3 ( 48

&) Place your tile on one of the four corners. To avoid having gaps, have the corner
of the paper align with the original square you started with. The first tile you

trace can hang off the edge of the paper.
7) Rotate (turn) the tile to fit it next to your original tile.
8) Continue rotating the tile until the page is covered.
9) Colour your tessellation in a pattern
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The Yup'ik are an Inuit people from the

live and work in modern ways, their

patterns using regular polygons.

The use of regular polygons in repeated
patterns is
used reg
them ar

s between shapes.

Yukon and Alaska. Although they generally

traditional clothing included parkas with

led a tessellation. The Yup'ik
qons without overlapping

aright showcase

Prefendd booes an top ol dad® R i [Oeempcisg
| Qi g v amm ndtograty

Irataend windes |§@rerisn

VVVVVVVVY

Proim 1] Beed®s 18 peorinnd Sunsiilaen s | b il (4 gy vt

FvvveYyvyyevywywy
Y Y YT Yy YT Y TYY

Praimnd munerlen s sill ee®ed D | Siggiecial e snkan g

irregular polygons in your pattern?

Which regular polygon did you use to create your 7

irregular polygons in your pattern?

Which regular polygon did you use to create your Yup'ik pattern? Are there any other
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Circle the congruent shapes. There may be more than one answer.

YNIDATN
O

b)

N/
0
O
. 7

m Fill in the table below ]

Tessellation Describe Transformation - Rotation, Reflection, Translation

From Shape A to Shape D

\ A/j( 8 \ From Shape A to Shape B

[N/
From Shape A to Shape C
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Can the shapes below be used by themselves in a tessellation? ]

AN AN [/

1) Yes Mo 2) Yes Mo 3) Yes Mo
5) Yes Mo &) Yes Mo

Type of Tessellation
qular, Semi-Regular, Irregular
1)
2)
3)

Draw a tessellation using the combination of polygons below ]

Pentagon and Triangle




Grade 6

STATISTICS AND PROBABILITY

Curriculum Expectations

Pages That Cover
the Expectations

Students will be expected to create, label, and

Preview of 60 pages from this
« product that contains 146 pages

total.

5-16, 19 - 22, 24,

L 20

g L T 33

8

gl e

S5P04

Students will be expected to demonstrate an
understanding of probability by

» identifying all possible outcomes of a probability
experiment

» differentiating between experimental and
thearetical probability

» determining the theoretical probability of
outcomes in a probability experiment

» determining the experimental probability of
outcomes in a probability experiment

» comparing experimental results with the
theoretical probability for an experiment

63 - B8
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Data that uses numbers (measured, counted) data that uses words (categories)
- length, height, area, weight, time, etc. - choices, favourites, foods, colours,
etc.

Read the description of the data and circle if it is quantitative or qualitative

1) Money B the bake sale last month

Quantitative

Qualitative

Quantitative

Qualitative

Quantitative

Qualitative

Quantitative

Qualitative

&) The weight of different hockey skates

7) The height of the grade 4 students

Quantitative

Qualitative

8) Favourite season of the students in your school

Quantitative

Qualitative

?) Which town/city people live in that go to your school

Quantitative

Qualitative

10) Whether or not you have a pet

Quantitative

Qualitative

11) How long it took to get to school

Quantitative

Qualitative




Mame:

G (AR T TR
P

use your senses to observe the
results

OO

use measurement tools to make
observations

ve the picture below with your senses. Write as many qualitative
i 25 as you can (imagine the smell/noise/taste/feel)

¥ .

N Y
~w

Pretend you can measure the weight, speed, and
Provide a guantitative observation (estimation of these

of

il

—

Height: cm
Weight: kg

Speed: km/h

Held cm

Weight: kg

Speed: km/h

Height; cm
Weight: ka

Speed: km/h

Height; cm
Weight: kg
Speed: km/h
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Cluantitative

Qualitative

¥

5) The vehicle has silver rims

&) The vehicle has 2 headlights

7) The vehicle is a car

8) The vehicle drives up to 180km/hour

9) The vehicle's tires are large

10) The vehicle weighs 1700 kilograms

Write guantitative and gualitative observations about image # '

Observations Cluantitative

Qualitative

1)

2)

4)

5)
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Data that you have collected yourself Data that has been collected by someane else
Example Example
- asking your classmates their favourite food - finding data on the internet

TR NLEE FRead the description of the data and circle if it is primary or secondary data ]

1) You ress bow many points Lebron scored in the NBA playoffs Primary
last year Secondary
Primar
2) Yo of the kids in your class ¥
Secondary
Prima
3) You measur each day for a week o
Secondary
Prima
4) You look up how mu .
Secondary
Primar
8) You record how many minutes Y
Secondary
Primary
&) You weigh different sized rocks in your yard
) g i Secondary
7) You measure the weight of your cat each year
8) You research how many Orcas are left off the coast of Vancouven

m Write your own primary and secondary data descriptions below ]

1) Primary

2) Secondary

3) Primary

&) Secondary
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When we collect primary data, we often use survey guestions to ask people to gather
the data. We can also create research questions for experiments we plan to perform

so that we can collect primary data.

- What is your favourite hobby? : —

- What is your favourite food? Example of Primary Data Research Questions

- How much snow will fall this month in my
backyard?

-  How many pushups can | do every day for

10 days?
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When we collect secondary data, we are finding data from another source. This
means someone else has collected the data for others to use as secondary data.

Using secondary data allows us to answer questions we may have, With so

much data available to us, we can write research questions about almost anything
and find the data online.
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Choose a research guestion that you are most interested in. Find data that answers
your research question. Organize your data by using the table below.

Organizer Fill in the table below J

1) What is your research question?

2) Ho our data? You will need 4 or 5 categories so you can use

your s - Ons.
Or exanye: ; gl totals for his first 5 seasons.

Categories ' 4

o« s

Data

3) What did you learn about your secondary g

4) Why is this data considered secondary data?
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Discrete and continuous data are both forms of quantitative data. This means both are
numerical, meaning the data is acquired through counting or measuring.

Discrete data is collected when the answers to a survey are only numbers, It is
guantitative data that has no relationship between the numbers. For example, "*how many
pets you have” is discrete data because there is no relationshipbetween 1 and 2 pets. You
cannot have 1 and a half pets, only 1 or 2. Discrete data is counted.

With Continuous data. there is a relationship between the numbers. For example, "how
much rainfallthere was last week? You can have 1 and a half mILLImEtFEE of rain, which

Discrete/Continuous

2. How many siblings do you ha?

3. What was the average temperature in Jul

4. How many minutes did you read this week?

5. How many video games do you own?

4. How many kilometres did you run this week?

7. How many sports do you play?

8. What grade are you in?

9. How many litres of milk do you drink a week?

10. How many cars does your family have?

S pEr slmpleShaat supersimplos iaets. com
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Guestions Researching a car

You are purchasing a new car over the phone, You ask the car salesman the questions

below. |s the data he gives you discrete or continuous?

Data Collected

Discrete/Continuous

1) Ho the car have?

3) How many litres

4) How many wheels does th

5) How fast does the car go?

6) How many passengers can the car hold?

7) How many speakers are in the car?

8) How many kilometres has the car driven already?

9) How much does the car cost?

10) How long does it take to get up to 60km/hour?

11) How long is the car?

12) How many decibels do the speakers produce?
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Researching a basketball team ]

® i\
You are the manager of a basketball team and are g
researching your next opponent. You decide to collect ‘
data based on the questions below. Is the data “v
qualitative, discrete, or continuous?
Data Collected ﬂualitativF;’Dis:retef
Continuous

are on the team?

6) How many games have the

7) How old are their players?

B) How many wins do they have this year?

10) Which type of defense do they play - zone or man?

11) How many three pointers do they take a game?

12) What is the name of their mascot?

Write one example of each type of data

Type of Data Example

Qualitative

Discrete

Continugus




Mame:

Curriciisn Cimnact i
SR

There are many different types of graphs. Each graph has features that make it better
for certain data sets. Read about the different graphs below and when we use each

one.

Types of Graph

Explanation

When We Use Them

A graph that uses images or
plols to represent data

- When we want to display simple
data in picture form.

- When we want to make our data
mare interesting

- A graph that displays
points or symbols (checkma
¥'s) above a number line

- The dots are not connected

- When we want to compare
categories between different
groups

- Used with discrete data

a B E & & 3§

- A graph that shows the
relationship between different
values of data

- The bars are presented beside
each other for clear comparisons

- To display the re[3Gnship
between two sets of data. For
example - gender differences or
adults vs youth

P e

- A graph that displays data as
points that are connected with a
line

- Used to track changes over
periods of time
- Used with continuous data




Mame:

Currmicidisn Cismmsect ion

Pk

Circle the graph you would use to represent the data

Description

Graph A

Graph B

You want a simple graph that shows a visual
1) :
representation of the data

Broken-Line

Pictograph

visually

show the relationship between two

Multiple Bar

5  You want to grap

You are displaying two s
and women

Label the names of the graph

i Bar Graph Graph
aph that has smaller Line Plot Bar Graph
isplays your data MuléiFﬂE Bar Bar Graph
raph
Er”é‘f;‘ph"”e Line Plot
Bar Graph Multiple Bar

Graph

®
x
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The two graphs below display the same data. Examine both graphs and answer the
guestions below.

Favourite Vehicle = Graph A Favourite Vehicle - Graph B

100 30

80

bl

40

20

0

ok W @{}%

Questions What do you notice ab

a) What is the scale in Graph A?

b) What is the scale in Graph B?

c) Which graph uses mare of the space?

d) Which graph is better? Why?

e) What other scales could you use for the data?
- Go up by

- Goup by
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When you create a scale for your graph, you need to look at the data so you can decide

what to go up by. The goal is to create a graph that will fill the graph area.

Step 1: Look at the data. Find the lowest and highest numbers,

Step 2: Count how many lines you have to plot your data.

Step 3: Decide what to go up by to ensure you have enough space to plot ALL the data.

T
z &
= 7]
n R
i {4 ]
o )

L

Favourite

Transportation
Method

Bus
Car
Airplane
Train
Boat

Cookie

# of votes

11
49
L
70
82

0,0 0, G B B, 6

Favourite
Dessert

Brownie
Ice Cream
Cookie
Donut
Pudding

# of votes

21
27
15
12
9

Bus

Car
Airplane

Train

Boat
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survey Question
Solving a Problem

Solve a problem in your life by asking your classmates for their opinion. For a quantitative
guestion, the answers should be a number, or a number range. For example: "How many
books should | read a week?' - Answer options: 0-3, 4-7, 7-10, 11+

Examples
1 -"Howm
2 = "How m

urs a week should | practice my favourite sport”
of sleep should | get a night?™
vegetables should | eat a day?”

Example®Ho
pencils do |
school?

Categories

Tally

Frequency

Interpreting Your Survey Results

1. How many people did you survey? ﬂ ]

2. Which category was the most popular?

3. Which category was the least popular?

4. Was your problem solved? Will you follow the data and listen to your classmates?
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I X axis label

I‘faxiﬂlabﬂl

Tithe

Scale |

Use the data you collected to plot your graph. Remember the following labels:

Categories
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The students in grade 4, 3, and 6 were asked which social media app was their
favourite, The results have been sorted by grade in the multiple-bar graph below.

Favourite Social Media Apps

Mumber of Votes

Wy
T/

Facebook instagram

(B),

dal e ey

Gra

MGraded N Grat &

o
Fill in the frequency table by reading tF ~ ? - ,N
A »
Grades Snapchat YouTube Tik Tok ag am
4
5
6

Answer the guestions below J

a} How many students in each grade were surveyed?

b) Which social media was the most popular? How many votes did it get?

c) How many mare grade 4's liked YouTube than grade &'s?




A restaurant wants to know which drinks to keep in stock. They decide to sample

three different age groups - kids under 12, teenagers, and adults 20 years or older.
They randomly select individuals from each group.

Coffes Iuice

HEKids Under12 OTee

Favourite Drinks

Chocolate Milk

Fill in the frequency table by reading t

Age Group Coffee luice Pop
12 and Under

Teenager
Adults (204)
Part 2 Answer the questions below ]

a) How many people in each age group were surveyed?

b) Which drinks would you keep in stock?

c) Which age groups prefers juice and milk?
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I X axis labol

_I‘faxiﬁlahel

Title

Scale I

Use the data you collected to plot your graph. Remember the following labels:

Categories

Legend

1]
]

Fill in the frequency table below with your 5 categories and 3 different groups
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Precipitationis the amount of water falling from the sky. It can be in the form of rain, snow,
drizzle, sleet, or hail. The data for total precipitationin Truro for 2021 has been represented
in the broken-line graph below. Numbers have been rounded to the nearest 5.

Precipitation by Month in Truro

Precipitation (mm)

Part ] Fill in the frequency table by r

J F M A M J J

Solve an argument

a) Molan and Rachel are arguing over which time of year has more precipitation. Nolan says
that more precipitation falls from January-June, but Hachel says more falls from July-
December. Who is correct? Explain using data to support your answer

b) Rachel says the largest increase of precipitation happened from January to February, but
Nolan thinks it was from September to October. Who is correct? Explain
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Jessica went for a bike ride from 8:00am to 2.00pm. She stopped to enjoy some food at a
park and then went home. Unfartunately, she had a flat tire on the way home, but she
eventually made it.

Bike Ride

Distance From Home (km)

12:00pm

L:00pm 2:00pm

f' 8:00am

Part 1 Fill in the frequency table by rez

Time

Distance
Travelled (km)

Answer the guestions below

a) How many kilometres in total did Jessica travel?

b) What time did Jessica stop at the park?

c) When did Jessica have a flat tire?

d} What hour did Jessica travel the most kilometres?

el How many hours was Jessica biking for?
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Amy is saving her allowance. She gets paid $20 a week. Sometimes, she spends money
on things she wants. The amount of money she has saved is shown in the table below.

Week 1 2 3 4 9 b 7 g 9 10
Savings | 20 40 a0 70 20 &0 80 100 | 120 70
L

I ~osver the questions below |

1) Include in your graph: title, label x and y axis, and scale

2) What week did Amy spend the most money?

3) What weeks did Amy not spend any of her allowance?

4) How much did Amy spend in total?




Mame: 39 SP1

Lincoln and Maverick had a contest to see who could run the most kilometres in a
week. Their results are displayed in the broken-line graph below.

Distance Ran in a Week s Iraatn e Fiaes

Questions Answer the gue

1) Who ran more km in the week?

2) |s the data continuous or discrete?

3) Which day did Maverick run the most? How far did he run?

4) Who was winning the contest after the fifth day?

3) How many total km did the two girls run together?

&) Which day did Lincoln run the furthest? How far did he run?

7) How many more km did Maverick run on day 7 than Lincoln?
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When we talk about graphing, there are two important concepts called interpolation
and extrapolation, Let's see what they mean in simple terms:

Interpolation: Imagine you have a connect-the-dots picture with some dots already
connected, but there's a small gap in the middle. Interpolation is like filling in that gap
using the information you have from the dots around it. It's like guessing where the line
should go between the dots we already have.

Extrapol . think about the same connect-the-dots picture, but this time the

line sto ing the last dot. Extrapolation is like guessing where the line

shio e have, to reach that last dot or even go further. Since

we'r nd the information we have, it's more of an educated guess
and mig rpolation.

t To A Park

100
= L1
Bl
70

a0
A
ELH
20
10

B:00am 9:00am 10:00am 11:00am 12:00pm 1:00pm

Questions Answer the guestions below ]

Interpolation

1) How many visitors visited at 8:307

2) How many visitors visited at 11:307

3) How many visitors visited at 1:307

Extrapolation

1) How many visitors would visit by 3:00 if the pattern continued?

2) How many visitors would visit by 5:30 if the pattern continued?
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Carbon Emissions (Million Metric Tons)

L2l
210

200

2010

2011 2017 2018 2019

Answer

1) Do yvou need to use interpolation or

a) What were the carbon emissions by mid-ye

b} What were the carbon emissions by mid-year

c} What will the carbon emissions be by the year 20257

Interpolation

Extrapolation

1) How much carbon emissions were emitted by mid-year 20137

xtrapolation

2) How much carbon emissions were emitted by mid-year 20187

3) How much carbon emissions were emitted by mid-year 20107

Extrapolation

1) What do you predict will be the carbon emissions in the year 20227

2) What do you predict will be the carbon emissions in the year 20257

3) How much carbon emissions will be emitted by mid-year 20277
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Weekly Book Sales in CAD
2600

2400

2200

2000

L&0

1600
1400
Week 1 Wen i S Week b Week 7 Week B Week 3 Week 10
Answer th 10
1) How much did the bookstore earn in tM mid k

2) How much do you think the bookstore will ea

3) How much did the bookstore earn in the middle of we

4) How much do you thinkthe bookstore will earn in week 147

5) How much did the bookstore earn in the middle of week 17

&) Which is more accurate in describing data: interpolation or extrapolation? Explain.

7) In this line graph, is the extrapolated data more of a guess or an exact figure? Explain,
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Have a friend use a stopwatch to record how many seconds it takes for
you to complete each lap.

Instructions: Create a "track” that you can run or walk around 10 times, @

Hypothesis Will your lap times get faster or slower? Explain. ]

ollect data and answer the guestions below ]

Record how

1 2

Interpreting The Data
1. Was your data collected from a primary or s5e

2. What conclusions can you draw from your data? W

aj

b]

3. Why is this data continuous data?

4, If your graph has ten Lines on the y axis (up and down), what scale will you go up by?
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I X axis label

I"l"axiF.Iaan

Tithe

Scale |

Use the data you collected to plot your graph. Remember the following labels:

Categories
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Quantitative continuous data is data that is collected through measuring. We

Is collected over time - examples: minutes, days, weeks, months, or years.

Example - how many steps taken in each day for a week

don't use categories, instead we use numbers. Quite often, continuous data a\

N

IENERMIRTSA L Collect data by measuring or researching your question of interest

Interpreting The Data

1) Was your data collected from a primary or secondary source®

2) What conclusions can you draw from your data? What did you learn®

3) What surprised you about the data you collected? Include at least 1 surprise.
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I X axis label
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Tithe

Scale |

Use the data you collected to plot your graph. Remember the following labels:

Categories
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Imagine you are selling a book you wrote. You want to show your customers that
your book is selling like crazy, and they should buy it now before it sells out. Which
graph would you choose for an infographic?

Book Sales - Graph A Book Sales - Graph B
91 100
= 20
60

MNov Dec

Questions

a) Which graph would you use to show Custo
massively? Why?

have been growing

b) How are the graphs different? Do they have the same

c) How many sales were made from September to December?

d) Does graph A make it seem like more books were sold? Explain.

d) Why is it important to read a graph carefully?
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1) You surveyed your classmates asking which sport is their favourite. The results are
listed below.

Baseball Gymnastics Dance Hockey Football
21 35 22 18 12

would you use to represent the data? Explain your choice.

2) You surveyed the g} ETY our school asking them which food
was their favourite. The

Pizza
Students 22
Teachers 16

3) You are displaying your height in centimetres from when you were 1 years old
until you were & years old.

1 2 3 4 5 b
5.2 &7 79 Bl 102 114

Which type of graph would you use to represent the data? Explain your choice.
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1) Favourite music genre Quantitative Qualitative
2) Heights of students in your class Quantitative Qualitative
3) Number®&students in each classroom Quantitative Qualitative

Discrete

Continuous

Discrete

Continuous

Pizza

Chocolate

Spaghetti

lce Cream

Chicken
Wings

Pizza

Spaghetti

Chocolate
lce Cream
Chicken Wings

Favourite # of
Food votes

27
318
12
15

21

Discrete

Continuous

Jake

Mathan

Courtney
Ashley
L ko

Mathan

Courtney

Ashley
Luke

%0
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Read the graph and answer the questions below J

Rebecca and Jessica had a contest to see who could read more pages in their novels
in 7 days.

Pages Read in a Novel =~ —e—Rebecca =® Jessica

Questions

1) Who read more pages in the 7 days?

2) |s the data continuous or discrete?

3) Which day did the two girls read the most pages?

4) Which day were they tied?

5) How many total pages did the two girls read together?

&) Which day was Jessica ahead?

7) How many pages did Rebecca read from day 6 to 77
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Graph the data below in a broken-line graph ]

The data for the amount of snowfall in New Glasgow is presented in the table below.
Graph the data as a broken-line graph. Make sure to label your graph properly.

Month Oct Moy Dec Jan Feb Mar Apr
Snowlall 8 24 19 50 75 9 5
(cm)

1) Which month had the most snowfall?

2)  Which month had the least snowfall?

3) How much did it snow in total during these 7 months?

4) Is this data discrete or continuous?

5) What conclusions can you make from this data? List at least 2.
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Shade in one guarter of the shapes. Write the fraction of shaded shapes to total shapes
a) /’E b) c)
d) e) f)
A %

One Quarter Fraction
1 20 7 % %
2 BO 40
3 60 T2
4 24 16
] 48 L4
& 68 84
7 Fé 92
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Circle the likelihood of the event happening

a coin.

Equally Likely
Maore Likely
Less Likely

7) You will roll a 2 when you roll a

dice.

Equally Likely

More Likely

ﬂ: }"

Less Likely

5) You will get an odd number®

you roll a dice.

L

Equally Likely

More Likely

Less Likely

4) It was rain in the next 30

minutes.

Equally Likely

More Likely

Less Likely

get a tails when you flip

Equally Likely

7) You will pull a red card from a

deck of cards.

_,-

Equally Likely
Maore Likely
Less Likely

Maore Likely

Less Likely

9) You will win a game of rock,

paper, scissors.

ﬂﬁ

s h

¥ -

- a*

"h
% F’I

Equally Likely

More Likely

Less Likely

10} You will use rock in a game of rock,

paper, sCissors.

Equally Likely

More Likely

A A

Less Likely
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We can describe the likelihood of events by using the following terms:
impossible, unlikely, equally likely, likely, certain @ = J

Impessible  Equally Likely Certain

Impossible = Cannot happen
Less Likely = Will probably not happen Less Likely Mare Likely
Equally likely = There is an equal chance it could happen and that it won't happen
More Likel Wlll. pmbably happen

Certain =

1) You

2) You

3) You will play on an electronic

4) You will win the lottery today

@

5) You will see an alien today

6) You will ride in a vehicle today

]
7) You will sleep tonight h

8) You will eat chips today

9) You will go swimming today f’@é

10) You will play a sport today
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Questions

Circle the likelihood of the event happening |

1) lce will melt on a hot day.

Certain

More Likely

Equally Likely

Less Likely

mpossible

2) Water will freeze on a hot day.

Certain

More Likely
Equally Likely
Less Likely

Impossible

Impossible

class today.

6) A talking horse will teach your

Certain

More Likely

Equally Likely

Less Likely

Impossible

&) You will jump at least once today.

Certain
More Likely
Equally Likely

Less Likely

Impossible

Impossible

T) You will see a car today.

Certain

Mare Likely

Equally Likely

Less Likely

Impossible

8) Water will come out of the tap
purple.

Certain
Mare Likely
Equally Likely

Less Likely

Impossible




Theoretical probability is the likelihood an event should happen. It is based on the

number of favourable outcomes mwdedhy the samm.e_sjzﬂmiﬂl_pnasmlﬂmlmm&ﬂ

Imagine below, that the shaded in area is a target and the white part is the wall.

LN Represent the probability of hitting the target using a fraction, decimal and percent
1) 2) 3}

Fraction | Decimal |l | Percent Fraction | Decimal | Percent

304100 0.3 0%
4) 5) 6)

=

Fraction | Decimal | Percent Fraction | Decimal | Percent Fr Percent
7) B) )

Fraction | Decimal | Percent Fraction | Decimal Percent Fraction | Decimal Percent
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Read the spinner and represent the probability using a fraction

1) Fraction | Decimal | Percent
=] Ried
a) Spinning a red —
Blue Red
- i b} Spinning a blue
v c) Spinning a blue or red —
2} Fraction | Decimal | Percent
Red
lue
Green
Yellow Biue in
i e c) Spinni ow o
cimal | Percent
a) Spinning a green or blue
Vellow b) Spinning a yellow
e} Spinning a yellow, green or
blue
Fraction | Decimal | Percent

a) Spinning a blue or green

b) Spinning a blue or yellow

c) Spinning a pink




. f:" -
A dice has 6 sides. Each side has a number of dots between 1 and 6. When !: -
you roll a dice, you have an unlikely chance of rolling a certain number, a
Questions Circle the fraction that represents the probability of the event J

ikelihood of you rolling a 17
Unlikiely Even Chance Likely Wery Likely Certain

v . v

T T T Decimal | Percent
A L8 b
& b &

2. What is the

Impossible  Very Unlsely ik ly Very Likely Certain

. ;
! t

g 1 Z 3
& & b

3. What is the likelihood of you rolling a 1, 2,

Impossible  YeryUnlikely Unlikely Even Chance

. '
T

Decimal | Percent

o= —p

v . ' v v
T T T 1 Percent
5 1 i 3 4
& & & & b
4, What is the likelihood of you rolling a 1, 2, 3, or 47
Impossible  VeryMrlikely  niikely Even Chance Likely Very Likely  Certain
* Jr * 4 t * 4 Decimal | Percent
— 4+t * 1t F 4
o 1 ad a L 2 -
& B & & b & &
5. What is the likelihood of you rolling an odd number?
Impossible  YeryUnikety Linlikaly Even Chance Likely Wary Likely Certain

v v . v v

Decimal | Percent

cr-|-=—|-
'ﬂ"\-ll—'—-"
ﬂ"|||“|-\.'l — | W
-::r-|l:h el g

s : ‘
- 4 5
= & &

L SipEr SlimpleShas BUBErSImpLas Naet s, Coim
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Spinner
The spinner has different coloured parts on it. When you spin the arrow,
it will Land on one of the colours.

Y

Questions

Write the fraction for each of the situations below. Then circle the probability

1. What is the likelihood of landing on a red part?

Unilikely Even Chance Likely Certain
Decimal | Percent
'r r
-1 &
8 B
2. What is t on a blue part?
Impossible Likely Certain
T ‘T Decimal | Percent
g 2
B 8

Impossible Unlikely Even Chance
v . v v
1 t t t
- iz - 5
B B B B

4. What is the likelihood of landing on a red, blue, or yellow

Percent

Impossible Unlikely Even Chance Likely Certain
. v . . '
‘ Decimal | Percent
t | 1 t
o £ A K- &
B 8 B 8 B
5. What is the likelihood of landing on a purple part?
Impossible Linkikely Even Chance Likaly Certain
v v v v , ) I
cima ercent
T T t T T
A 2 & & 8
B g B 8 B
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There were 24 cookies in a cookie jar. 12 of the cookies were chocolate
chip (cc), B were oatmeal raisin (or), and 4 were double chocolate (dc).

Even Chance Likely Certain
* 4 # Decimal | Percent
&
| t t
b i 12
12 12
2. What is the put a chocolate chip cookie?
Impossible kaly Certain
* Decimal | Percent
0
12

3. What is the likelihood of you picking out a

Impossible Unlikely Even Chance

4 ¢ J,
T 1 T ]
|;|

1Y 3 b e
12 12 12 12

4. What is the likelihood of you picking out a chocolate chip cookie or an oatme

Percent

Percant

Impossible Linlikely Even Chance Likely Certain
' . . v v S
f T t r f
' 3 & B 13 1z
12 12 12 12 12

Impossible Unlikely Even Chance Likely Certain

. . , ' '

5. What is the likelihood of you picking out an oatmeal raisin cookie or a double chocolate cookie?

Decimal

Percent

-ttt 1
0 3. 6 9 12

12 12 12 12 12
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There are 20 marbles in a bag. What is the
likelihood of you pulling out a white, grey,
or black marble?

Fregquency

1) Describe the pro ¥ i
2] Represent the probabilit

Questions

Event

1. What is the probability of pulling out a black ma3
Probability:

2. What is the probability of pulling out a grey marble?

Probability:

L likely or certain J

Decimal | Percent

3. What is the probability of pulling out a white marble?

Frobability:

4, What is the probability of pulling out a black, white, or
grey marble?

Frobability:

3. What is the probability of pulling out a black or white
marble?

Probability:

6. What is the probability of pulling out a green marble?

Probability:
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Candies

There are 20 candies in a bag. What is the
probability of you pulling out a red, green
or blue candy?

Questions

Event

1. What is the probability of pulling out a red candy?
Probability;

|

2. What is the probability of pulling out a blue candy?

Probability:

Decimal | Percent

3. What is the probability of pulling out a green candy?

Probability;

4. What is the probability of pulling out a red, blue, or green
candy?

Probability:

5. What is the probability of pulling out a blue or green
candy?

Probability:

6. What is the probability of pulling out a purple candy?

Probability:
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Gumball Machine
There are 24 gumballs in a machine. What is

the likelihood of you pulling out a red (R),
yellow (Y), green (G), or blue (B) gumball?

2) Represent the probabilit

Event

1. What is the probability of pulling out a green gumm
Probability;

2. What is the probability of pulling out & red gumball?

Probability:

|

Percent

3. What is the probability of pulling out a blue or green
gumball?

Probability:

&. What is the probability of pulling out a red or yellow
gumball?

Probability:

5. What is the probability of pulling out a blue, red, yvellow, or
green gumball?

Probability;

6. What is the probability of pulling out a pink gumball?

FProbability:
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A dice has 6 sides. Each side has a number of dots between 1 and 6. When
you roll a dice, you have an unlikely chance of rolling a certain number,

Questions What is the probability of...

1) Rolling 3

Fraction Decimal Percent

Percent

3) Rolling an odd number?

Fraction Percent

4) Rolling two six-sided dice and

Fraction

5) Rolling two six-sided dice and getting a 1, 2, or 37

Fraction Decimal Percent

6) Rolling two six-sided dice and getting an even number?

Fraction Decimal Percent

7) Rolling two six-sided dice and getting a 67

Fraction Decimal Percent
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What should happen What did happen after the event (experiment)
Example - The theoretical probability of Example - You flipped a coin 10 times and got
flipping a heads is 1 time out of 2 or . 7 heads. The experimental probably is 7/10.

Part 1 Write the theoretical probability of the events happening below

Question Fraction

1) =) probability of flipping a heads?
£
2) What is t | J of flipping a tails?
a % #
3) What is the theareMs Lty 25 a heads if you flipped

the coin 20 times? »

A

m Experimental Probability “Ng#0 a coig I|||¢

1) How many heads and tails do you think you wi

ecord your results ]

Tails

s
& f

y 0

|

2) Perform the experiment by flipping a coin 20 times. Record how many™eag s you get
Tallies Frequency | Fraction Percent
Heads
Tails

3) Was the theoretical probability and experimental probability the same? Should it be
the same? Explain.
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Theoretical: You should roll a 3 once every 6 rolls = 1/6

Experimental: You rolled a 3 twice when you rolled a dice six times = 2/6 ‘ m

Part 1 Circle if the example is theoretical or experimental ]

Example

Theoretical or Experimental

rage is 0.300, you should get a hit 3 out

Theoretical

Experimental

2) You t heads &4 times

Theoreatical

Experimental

3) You made 4 out
game

azketball

Thearetical

Experimental

4) You won a 50/50 draw after
sold.

9} There is a 40% chance that it will rain today

&) You have a 4 chance of pulling out a spade from a dec
cards

Theoretical

Experimental

Thearetical

imental

Is the example theoretical or experimental probability? Wr

fraction

Example Theoretical or Experimental Fraction

1) You should get a hit in baseball twice in
every o at bats.

2) The Weather Network says thereis a 75%
chance of it snowing today.

3) You pulled a diamond card 7 out of 20
times from a deck of cards
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Write the theoretical probability of the events happening below I

Your sock drawer is a mess! You have 50 socks in there in 5 different colours - white, blue,
black, green, and red. Here is the breakdown of the socks in your drawer,

Colour of Sock White Yellow Black Green Red

Mumber of Socks 18 8 14 i &

e drawer 50 times without looking, what is the theoretical probability
the colours below.

Green Red

2) Close your eyes and point to a random ' : our eraser. Repeat this
for 50 trials and tally your results below.

Colour of Sock White Yellow Black Green Red

Tally

Fraction

Percent
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The theoretical and experimental probability of an event happening is not guaranteed to

be the same. Performing more trials in an experiment will cause the experimental
probability to be closer to the theoretical probability.

Example - if you flip a coin 2 times, it is easy to picture getting heads twice in a row. That

would mean the experimental probability of getting a heads was 100% or 2/2. However, if
you flipped the coin 100 times, it is almost impossible to get 100 heads in a row,

Write the theoretical probability of the events happening below

Fraction

Follow the instructig

1) Roll the dice & times. Tally your results
1 2 3

2} Roll the dice 60 times. Record how many of each number you et

1 2 3 4

Tallies

Fraction

3) Did the experimental probability get closer to the theoretical probability when you rolled
the dice more times? Explain why this happens.
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Josh watched the cars pass by his house today. He took note of how
many people were in each car. He filled out the frequency table below,

Number of People in Car 1 . 3 4 5 Total

Number of Cars 45 71 34 18 10

1} Fill in the table above using 3
2) Estimate the probability that the ne

5) Estimate the probability that the next car to pass has at least 2 people in it.

&) If you had to guess, how many people do you think would be in the next car? Explain.
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| PR
Questions Baseball Statistics - 2021 Regular Season Offensive Statistics I%
Vladamir Guerrero Jr. had an impressive MLB season in 2021. His number of hits
are listed below,

Singles Doubles Triples Home Runs | Total Hits
115 21 1 51

Decimal

Percent

Huestions

Answer the questio

Question

1) When Guerrero gets a hit, what is the probability he w

i) get a double

ii} get a single

iii) get a triple

iv) get a home run

2) Guerrero had 600 at bats last year. What is the probability
he will get hit?

3) In baseball, a player's batting average is the probability of
them getting a hit shown as a decimal. What was Guerrero’s
batting average in 20217
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HQuestions

ﬂDn ﬁa

= .

1) In Regina on New Years Day, it has snowed 21 of the last 50 years.

a) What is the probability of it snowing on Mew Years Day as a..

Fraction

Decimal

Percent

3) A hockey team played 45 games last year. Their results are belo®

W T L W W I W i L W L W

L W T W L W L W T W W L W W L.

| W L | & W L o W W k. W W L T W
Fill in the table below.
Results Total

Fraction




Mame:

| @
Fill in the table below | ?. }!

People at a gym are asked what their favourite exercise equipment is. Their results are

bhelow.
= = = == = _

Elliptical Rower Total

Catego Treadmill Bike

18 22

Percentage

N

Fead the spinner a
scenario. Then write the fr

1) What is the likelihood of landing on a red
Impossible Linlikely Even Chance Likely
* * * IL Percent
! t ! t
o 2 & LN
8 8 B i
2. What is the likelihood of landing on a blue part?
Impossible Unlikely Even Chance Likely Certain
* * * * * Decimal | Percent
T t } t }
k'S 48 L -2 o
8 A B B 8
3. What is the likelihood of landing on a red or yellow part?
Impossible Unlikely Even Chance Likely Certain
* * t 4 * Decimal | Percent
'r 1 : T r
o 2 4 5 8
B 8 ) 8 ;]




Marbles

There are 30 marbles in a bag. What is
the likelihood of you pulling out a white,
grey, or black marble?

Part 3 Fill in the frequency table below ]

Marble Colour Frequency

ible, unlikely, equally Likely, likely or certain
e ) out a marble as a fraction/decimal/percent

-

1. What is the probability of pulling out

Probability:

2. What is the probability of pulling out a grey ma

Probability;

Fraction

Decimal

Percent

3. What is the probability of pulling out a white marble?

Probability:

4. What is the probability of pulling out a black, white, or
grey marble?

Probability:

3. What is the probability of pulling out a black or white
marble?

Probability:

6. What is the probability of pulling out a green marble?

Probability:




Answer the questions below

1) Rachel conducts an experiment and spins a spinner 20 times.
b Z 1 3 3 1 3 Y. 1 1
* S 3 b : 3 1 2 1 3
a) Fill in the table below

Results Total

2) Stephanie records the speed that cars drive B

Speeds 0-20

Frequency 118
Fraction
Decimal
Percent

a) Represent the probability using a percentage of ..

= i '._ = i} the next car driving 20 kph or less by her house

___'I‘__;'H ii) the next car drivingillegally (speeding) by her house

M iit) the next car driving legally (not speeding) by her house
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